T

Hisense

9SUSSIH

Switch Box

,,,,,

Technical and Service

Handbook

-Design-
-Installation-

-Service-

)OOqpUBH 99IAI9S pue |B2IUYd3d| XOg UYI}IMS

Hisense Models:

IMPORTANT:
Qingdao Hi Hitachi Air-conditioning Systems Co.,Ltd o
n d0 niIsense nitacni Air-conaitionin stems LO. .
g gy ’ HCHS-N10XA READ AND UNDERSTAND
Add: 218 Qianwangang Road, Economic & Technological Development Zone,Qingdao, P. R. China HCHM-N04XA THIS MANUAL CAREFULLY
Http: //www.hisense-vrf.com BEFORE INSTALLING THIS
E-mail: export@hisensehitachi.com HCHM'N08XA
SWITCH BOX.
HCHM-N12XA KEEP THIS MANUAL FOR

Specifications in this catalogue are subject to change without notice, in order that Hisense may bring HCHM-N1 6XA FUTURE REFERENCE.
the latest innovations to customers.

_|

O

<

w

N

<

(o}

3

g TCY32019004A Data: Nov. 2019




IMPORTANT NOTICE

e The applicable outdoor unit may be different depending on the product series.
Improper combination will lead to malfunction and an alarm will be triggered. Be sure to confirm with the
product catalogue before installation.

e Hisense pursues a policy of continuous improvement in the design and performance of products to meet
regulatory requirements and industry standards. Therefore, Hisense reserves the right to revise
specifications without notice.

e Hisense cannot anticipate every possible circumstance that might involve a potential hazard.

e This heat pump air conditioner is designed for standard air conditioning applications only. Do not use this
heat pump air conditioner for other purposes, such as drying clothes, refrigerating foods, or for any other
cooling or heating process.

e Do not install the unit outdoors. Do not install the unit in the following places. It may lead to a fire,

deformation, corrosion or failure.

* Places where there is high level of oil mist (including machinery oil).

* Places where there is high alkalinity level (chlorine or bromine such as over hot tubs, etc.).

* Places where flammable gases or liquids may be used or generated.

* Places with a high concentration of salts, salty mists or sprays (such as over salt-water aquariums).

* Places with an atmosphere of high nuisance dust. Places with organic solvent atmospheres, such as
painting and cleaning locations.

e Do not install a unit in the place where condensate water can leak onto the unit, otherwise electrical device
failures may occur.

e Pay attention to the following points when the unit is installed in a hospital or other facilities where
electromagnetic waves generate.
* Do not install the unit in places where electromagnetic waves radiate to the electrical box, wired controller
cable or wired controller.
* Install the unit at least 3m (10 ft) away from electromagnetic waves or interferences such as a radio.

e The installer and system specialist shall secure against leakage according to local regulations or standards.
This system has both high and low pressure refrigerant and, as such, comprises a pressurized system.
Never loosen threaded joints while the system is under pressure and never open pressurized system parts.

e No part of this manual may be reproduced without written permission from Hisense.

e It is assumed that this heat pump air conditioner will be operated and serviced by English speaking people.
If this is not the case, the distributor or dealer can provide or add safety, caution and operating signs in the
native language.

e Should you have any questions, please contact your distributor.
e This manual describes the features of this heat pump air conditioner as well as for other models.

e This appliance is intended to be used by expert or trained users in shops, in light industry and on farms, or
for commercial use by lay persons.

This manual should be considered as a permanent part of the air conditioning equipment and should remain
with the air conditioning equipment.



CHECKING PRODUCT RECEIVED

e Upon receiving this product, inspect it for any shipping damage.
Inspect all electrical connections. Connections must be clean and tight at the terminals.
Claims for damage either apparent or concealed, should be filed immediately with the shipping company.
NOTE: Rough handling may dislocate internal components.

e Check the model number, electrical characteristics (power supply, voltage and frequency) and accessories
to determine if they are correct with the ordering and shipping information, to ensure the correct unit has
been shipped.

To minimize the possibility of damage after inspection, the units should be installed and reassembled as
soon as possible.

The standard installation and general use of this unit is explained in this manual.

Although common processes and procedures for installing units are presented in this manual, its use for
installation of units otherwise indicated in this manual is not recommended. Please contact your local agent
as the occasion arises.

Our liability shall not cover defects arising from the alteration performed by a customer without our consent in
a written form.

SAFETY SUMMARY

Signal Words

e Signal words are used to identify levels of hazard seriousness.
Definitions for identifying hazard levels are provided below with their respective signal words.

A Y\ \[e]=:y : Indicates a hazardous situation which, if not avoided,
will result in death or serious injury.

. Indicates a hazardous situation which, if not avoided,
could result in death or serious injury.

ACAUT'ON : Used with the safety alert symbol, indicates a hazardous situation which,
if not avoided, could result in minor or moderate injury.

NO TICE . Used to address practices not related to personal injury.

NOTE : Useful information for operation or maintenance.



SAFETY SUMMARY

e Do not use any sprays such as insecticide, lacquer, hair spray or other flammable gases within
approximately 1.3m (4 ft) from the system.

e If the circuit breaker or fuse is frequently activated, stop the system and contact your service contractor.

e Check that the ground wiring is securely connected. If the unit is not correctly grounded, it may lead to an
electric shock. Do not connect the ground wiring to gas piping, condensate piping, lighting conductor or
ground wiring for telephones.

e Before performing any brazing work, check to ensure that there is no flammable material around.
When using refrigerant, be sure to wear leather gloves to prevent from cold injury.

e Insulate electrical wiring, condensate piping, and electrical components from threats posed by burrowing
animals and temperature extremes. Failure to do so can, over time, deteriorate system performance.

e Secure the cables. External forces on the terminals could lead to a fire.

e Tighten the flare nut with a torque wrench in the specified manner. Do not apply excessive force to the flare
nut when tightening. Otherwise, the flare nut can crack and refrigerant leakage may occur.

e \When maintaining, relocating or disposing of the unit, dismantle the refrigerant piping after the compressor
stops.

e Highly dangerous electrical voltages are used in this system. Carefully refer to the wiring diagram and
these instructions when wiring. Improper connections and inadequate grounding can cause serious injury
or death.

e Perform all electrical work in strict accordance with this installation and maintenance manual and all
relevant regulatory standards.

e Use specified cables between units.

e Be sure to install circuit breakers (ground fault interrupter, isolating switch, molded case circuit breaker and
so on), with the specified capacity. Ensure that the wiring terminals are tightened securely to
recommended torque specifications. If a circuit breaker or fuse is frequently activated, shut down the
system and contact your service contractor.

e Clamp electrical wires securely with a cable clamp after all wiring is connected to the terminal block.
In addition, run wires securely through the wiring access channel.

e When installing the power lines, do not apply tension to the cables. Secure the suspended cables at
regular intervals, but not too tightly.

e After stopping operation, be sure to wait at least five minutes before turning off the main power switch.
Otherwise, water leakage or electrical breakdown may result. Disconnect the power supply completely
before attempting any maintenance for electrical parts. Check to ensure that no residual voltage is present
after disconnecting the power supply.

e Insulate the refrigerant pipe connection to prevent condensation.

e Be sure to attach the cover so that it fits securely on the electrical box without any gaps. Secure the cover
with screws.

e This appliance is not intended for use by persons (including children) with reduced physical, sensory or
mental capabilities, or lack of experience and knowledge, unless they have been given supervision or
instruction concerning use of the appliance by a person responsible for their safety.

e Children should be supervised to ensure that they do not play with the appliance.

e [f the supply cord is damaged, it must be replaced by the manufacturer, its service agent or similarly
qualified persons in order to avoid a hazard.



SAFETY SUMMARY

A DANGER

e Do not perform installation work, refrigerant piping work, condensate pump, or condensate piping and
electrical wiring connection without referring to the installation manual. If the instructions are not followed,
it may result in a water leakage, electric shock or a fire.

e Use the specified non-flammable refrigerant (R410A) for the outdoor unit in the refrigerant cycle.
Charge only R410A into the unit. Do not charge other materials into the unit such as hydrocarbon
refrigerants (propane), oxygen, flammable gases (acetylene) or poisonous gases when installing,
maintaining and moving the unit. These flammables are extremely dangerous and may cause an
explosion, a fire, or injury. As originally manufactured, this unit contains refrigerant installed by Hisense.
Hisense uses only refrigerants that have been approved for use in the unit’s intended country or market.
Hisense distributors similarly are only authorized to provide refrigerants that have been approved for use in
the countries or markets they serve. The refrigerant used in this unit is identified on the unit’s faceplate
and/or in the associated manuals. Any additions of refrigerant into this unit must comply with the country’s
requirements with regard to refrigerant use and should be obtained from Hisense distributors. Use of
unapproved refrigerant substitutes will void the warranties and can cause injury or death.

e Do not pour water into the indoor or outdoor unit. These units are equipped with electrical parts. Exposure
to water may cause a serious electric shock.

e Users are not allowed to open the service cover or access panel for the indoor or outdoor units by
themselves. For professional technicians, please turn OFF the main power supply before operating.

e Do not touch or adjust safety devices inside the indoor unit or outdoor units. If these devices are touched
or readjusted, it may cause a serious accident.

e Carefully check for escaping refrigerant gas. If there is significant leakage, it can cause difficulty in
breathing. Turn OFF the main switch, and contact your service contractor if refrigerant leakage occurs.

e Make sure that the refrigerant leakage test is performed.
Refrigerant (fluorocarbon) for this unit is incombustible, non-toxic and odorless.
However if the refrigerant is leaked and comes in contact with fire, toxic gas will generate.
Because fluorocarbon is heavier than air, the floor surface will be filled with it, which could cause
suffocation.

e The installer and system specialist shall secure against refrigerant leakage according to local regulations
or standards.

e Use a Earth Leakage Breaker (ELB).
In the event of fault, there is danger of an electric shock or a fire if it is not used.



A CAUTION

e Do not step on the unit.

e Do not put any foreign matters on the unit or inside the unit.

e Provide a strong and correct foundation so that:

The outdoor unit is not on an incline.

Abnormal sound does not occur.

The outdoor unit will not fall down due to a strong wind or earthquake.

A warning to assure that partial units shall only be connected to an appliance suitable for the same
refrigerant.

This unit is a partial unit air conditioner, complying with partial unit requirements of this International
Standard, and must only be connected to other units that have been confirmed as complying to
corresponding partial unit requirements of this International Standard.

e Be careful that moisture, dust, or variant refrigerant compounds not enter the refrigerant system during
installation work. Foreign matter could damage internal components or cause blockages.

e Do not install the indoor unit, outdoor unit, wired controller and cable within approximately 3m (10 ft) of
strong electromagnetic wave radiators such as medical equipment.

e After a long shutdown, apply power to the outdoor unit(s) at least 12 hours prior to operation of the system
for preheating of the compressor oil.

e The A-weighted emission sound pressure level is below 70 dB(A);

NOTE

e |t is recommended that the room is ventilated every three to four hours.

e The heating capacity of the heat pump unit is decreased according to the outdoor air temperature.
Therefore, it is recommended that auxiliary heating equipment be used in the field when the unit is
installed in a low temperature region.

IMPORTANT NOTICE

Correct Disposal of this product

This marking indicates that this product should not be disposed with other
household wastes. To prevent possible harm to the environment or human
health from uncontrolled waste disposal, recycle it responsibly to promote the
sustainable reuse of material resources. To return your used device, please use
the return and collection systems or contact the retailer where the product was
purchased. They can take this product for environmental safe recycling.



1. General INFOIMALION.......coo ettt b et e s e b e e st e e e s b e 1
B S 7= {1 V2T 1 4]0 0 = 2SO REPE 1

1.2 UNIENOMENCIAIUIE. ...ttt ettt e e e e eas 1

PR T g T o R PRERRR 1

P € 1Yo 1T = I Y = PSSP 2
K B 1 o 1= g TSy (o T I - = SRS 3
SO0 o1 (o] =3 =T o USSR 6
S B = 4T [T = (T I 3 = SO PSTR 6
4.2 Electrical Wiring Qi@gramS.........cuuuiiiiiie e ittt e e s e ettt e e e e s s ettt e e e e e e s s asnt e eeaaeessassssaeeaaeessanssssneeeaeesannnes 9
4.3  Electrical Wiring @and SetliNgS.........uiiiiii oot e e e e e e e s s e e e e e e e s e rareaaaee s 15
4.3.1  SWitchBOXHCHS-N(OB/TO)XA. ... .ottt ettt ettt ettt e e emee e amte e eneeesneeeneeeneean 15

4.3.2  Switch BoX HCHM-N(O4~TB)XA. ... ittt ettt ne e e 17

ST o TU o To I I - | - S 21
6. Transportation and HanNAING.........cueiiiiiii e 23
L 200 B I = 1 ] o To T ¢ 11T o TSSO PPRRRS 23
6.2 Handling Of SWILCN BOX........uuiiiiiiiiiiiiiie e e e e s e e e e e e e e e e e e e e e e e nnneneeeas 23
6.3 Combination of Switch Box and INdoor UNit.............oooiiiiii e 23

A L2 5 211 = 11T o T P PRP PP PPRPP 25
7.1 FaCtOry-SUPPIIEA ACCESSOTES. .....eeeiiie ittt e e ettt e e e e e et et e e e e e s neb et eeeaeeeaannseeeeeeeeesannnereeeeeaeenan 25
A [T 12T O 3 =Y o USSR 27
7.3 SUSPENSION BOIES....eiiiiiiiie ettt e e et e e ettt e e e ettt e e et e e e e enne e e e e nneeeeanneeans 29
A 11 =1 =1 (o o PP PPRPRPN 31
7.4.1 Changing the Location of the Electrical BOX..........cccooiiiiiiiiiiiiiii e 31

7.4.2 Marking of the Positions of the Suspension Bolts and Wiring Connections..............cccccvveeeee... 32

8. ReffigerantPIDING WWOTK. ... ... ittt e e bt e e et e e e an e e e s nbe e e e aanees 33
LS TR I Ty W o SRS 45
O Y =14 4 I et Yo [ SRS 46
TS 1= V7T g T P 49
11.1  Removing Components for SWItCh OVEr BOX..........oiiiiiiiiiiiiiiiiie et e e 49
11.1.1  Removing Service Cover for Electrical Box and Electronic Expansion Valve...................... 49

11.1.2 Removing Electrical COMPONENTS.........cc.uuiiiiiieiiieii e e e 51

11.1.3 Removing Electric Expansion Valve COoil............cccoouiiiiiiiiiie e 54

12. Specifications for MVD @nd MVS...........ooouiiiiie ettt et et e e et e et e e eaaeeabeesaeeans 57
13. Safety and Control DEVICE SEHING.......ccciiuiiiiiiiiii ettt e e et e e e e e e e enaaeeans 58

TABLE OF CONTENTS



1. General Information

1.1 Safety Summary

e Do not perform installation work, refrigerant piping work or electrical wiring connection without
referring to our installation manual.

e Check that the ground wire is securely connected.

e Connect a fuse of specified capacity.

ACAUTION

Do not install the Switch Box and cable within approximately 3m (10 ft) from strong electromagnetic
wave radiators such as medical equipment.

1.2 Unit Nomenclature

Single Branch Type Multiple Branch Type
4 Ports 8 Ports 12 Ports 16 Ports

. _

1.3 Line-up
Type Capacity Model

HP kBtu/h kW RT
6 54 16 4.77 HCHS-NO6XA
10 96 28 8 HCHS-N10XA

Switch Box 16 154 448 | 12.73 HCHM-NO4XA
30 290 85 2414 HCHM-NO8XA
30 290 85 2414 HCHM-N12XA
30 290 85 24.14 HCHM-N16XA



2. General

Data

Type Single Branch Multiple Branch
Model HCHS-NO6XA| HCHS-N10XA HCHM-N04XA| HCHM-NO8XA[ HCHM-N12XA | HCHM-N16XA
Power Supply 220-240V ~ 50Hz ; 208-230V ~ 60Hz
Power Consumption w 5.6 5.6 11.2 22.4 33.6 44.8
Number of Ports (for Indoor Unit) 1 1 4 8 12 16
g/laxim_t:m ‘]!'otal KBtu/h <54 <96 <154 <290 <290 <290
All Connected ) (16) (28) (44.8) Sata (85) 2411
Single Unit Per Indoor Units (RT) (4.77) (8) (12.73) (24.14) (24.14) (24.14)
Port Maximum Total KBtu/h
Capacity of
Connected Indoor | KY) - - < 54(16)(4.77)" | < 54(16)(4.77)' | <54(16)(4.77)" |< 54(16)(4.77)’
Units Per Port (RT)
Maximum Number
of Connected
Indoor Units . 8 8 8 8 6 6
Per Port
Maximum Total
) . . kBtu/h <54 < 96 <154 <290 <290 <290
g::lple Units Per (A)ﬁa%aocr:t:eiied (KW) (16) (28) = (44.8) = (85) (85) (85)
4.77
Indoor Units (RT) (4.77) (8) (12.73) (24.14) (24.14) (24.14)
“CA: acit moIota' KBtu/h <54 <54 <54 <54
Connected Indoor | (KW) ; - (16) (16) (16) (16)
Units Per Port (RT) (4.77) @.77) (4.77) 4.77)
Height mm 191 191 260 260 260 260
Outer Dimensions |Width mm 301 301 303 543 783 1023
Depth mm 214 214 352 352 352 352
Net Weight kg(lbs) 6.3(13.9) 6.4(14.1) 14.1(31.1) 25.2(55.6) 35.5(78.3) 46.7(103.0)
Refrigerant - R410A
Running current A 0.1 0.1 0.2 0.4 0.6 0.8
Recommended Fuse/Breaker Size A 15 15 15 15 15 15
Maximum Fuse Size A 15 15 15 15 15 15
Gas Line
R mm 15.88 15.88 22.2 22.2 25.42 28.6
Refrigerant Piping g'alghl_/il;]oew Pressure)
2
(from Outdoor Unit)|(Low Pressure) mm 19.05 19.05 25.4 28.6 28.6 31.75
Liquid Line mm - - 12.7 12.7 15.88 19.05
Refrigerant Piping Gas Line mm 15.88 19.05 15.88 15.88 15.88 15.88
(from Indoor Unit) |, ;4 Line mm) - - 9.53 9.53 9.53 9.53

1. Make sure to increase the pipe connection size by using the appropriate accessory pipe.

2. Apply reducer (accessory pipe) for changing the pipe size to $22.2mm for field pipe connection.



3. Dimensional Data

HCHS-NOG6XA
23(7/8) | 330(13) Suspension Bracket - .
(For Suspension Bolt) 2x(11(7/16)x34(1-5/16)) Unit: mm(inch)
Slotted Hole
u
kR e
— ol
<
Qround Terminal (M5) Refrigerant Gas
376(14-13/16)  / (in Electrical Box) Pipe Connection
Electrical Box ($15.88(5/8 )
Refrigerant Gas 38(1-172) 301(11-7/8) 38(1-172) Flare Nut)
(Low Pressure)
214(8-7/16) Pipe Connection —
(©19.05(3/4) Flare Nut)  89(3-1/2), © |
© Refrigerant Gas = NI ©
P (High/Low Pressure) © ° S = 5
= = Pipe Connection :EQ ] 2} =
Tolke) g (915.88(5/8) Flare Nut) -
9%
< Control Wiring ~~_82(3-1/4) | 301(11-7/8) 89(3-1/2) = 11(4-3/8)
Connection Power Supply ]
s 40 54 ‘ A7) (®22(7/8)) Wiring Connection N
s (1-9/16)) (2—115718) (1-71 -23(2 ") (d22(7/8)) Indoor Unit Connecting Side
§’ (5-15/16)
Outdoor Unit Connecting Side
220-240V ~ 50Hz ; )
Power Supply 208-230V ~ 60Hz Net Weight 6.3kg(13.91bs)
Power consumption 5.6W Number of connectable indoor units 1t08
Refrigerant R410A Indoor unit total capacity 6.0HP(54kBtu/h,16kW,4.77RT) or less
HCHS-N10XA
23(7/8) 330(13) o ’
(For Suspension Bolt) Unit: mm(inch)
g (e
>
=1
< —
Suspension Bracket /
2x(11(7/16)x34(1-5/16))
Slotted Hole Ground Terminal (M5) Refrigerant Gas
376(14-13/16) / (in Electrical Box) Pipe Connection
Refrigerant Gas :
(Low Pressure)  38(1-1/2) 301(11-7/8) ag(1-1/2) - Erectrical Box (P19.05(34)
8-7/16(214) Pipe Connection ut)
(P19.05(3/4) Flare Nut) I
© Refrigerant Gas ~ P~ . N
S (High/Low Pressure) 89(3-172) 3 g =
3 i = Pipe Connection ® © i 5 g %
o (915.88(5/8) Flare Nut) g 5 &3
= Control Wiring :l Q
N Connection 82(3—1/4)‘ 301(11-7/8 96(3-3/4
©|_ 40 54 | 47| (P22(7/8)) T ( ) ( ) 111(4-3/8)
@[(1-9116) | (2-1/8) ((1-778)
g 151 63(2-112) Indoor Unit Connecting Side
(5-15/16) Power Supp
Wiring Connecti
Outdoor Unit Connecting Side (®22(7/8
220-240V ~ 50Hz ; )
Power Supply 208-230V ~ 60Hz Net Weight 6.4kg(14.1lbs)

Power consumpti
Refrigerant

5.6W
R410A

on

Number of connectable indoor units
Indoor unit total capacity

1t08

10HP(96kBtu/h,28kW,8RT) or less



HCHM-NO4XA

View from P
60 x3 =180

Unit: mm (inch)

P
\

67 . (2-3/8x3=7-1/16) Refrigerant Liquid Pipe
(2-5/: 60 (2-3/8) Connections 20 340(13_—3/8)
— T ] (4 x ©9.52(3/8) Flare Nuts)(1 3/16) (For Suspension Bolt)
B2 I >
83| = @
< ol5
N Refrigerant Gas Pipe T
Connection —
(4 x ©15.88(5/8) Flare Nuts) @%’:
Indoor Unit Connecting Side g é
<3
551 & £ E
(21-11716), Suspension Bracket
71 19:?/ - 352 4 (12(172) x 32(1-174))
823 (13-7/687) } sSoted ok f< 540(21-1/4) Refrigerant Gas Refrigerant Liquid
3-378) (2-58) _ 38 [ 303(11-15/16) _ 38 HghLow Pressure]\ Pipe Conniecion
B Electrical Box (1-172 (1-1/2) Pipe Connection =———9 / (.D. $129(12))
< E=n =g v e (1.D. ©22.36(7/8))
g~ e GroundTerminal(M5(W3/16)) /], J — =
e . __ (inElectrical Box ©l® 3l
AN (E- g o
o o &
L'(1f‘35,4) 10 115 48 Control Wiring Connection ¢ % E(1_155316)
. Power Su(g;zﬂzy :Nllr;rég B3, 022(1516)) Refrigerant Gas TI16)
onnection ($22(15/16)) = (Low Pressure) 244
gz O i sy ©<%)
= (LD- ®256(1) o tqo0r Unit Connecting Side
Model HCHM-NO4XA Net Weight 14.1kg(31.1Ibs)
220-240V ~ 50Hz ; ) )
Power Supply 208-230V ~ 60Hz Number of connectable indoor units per branch 1t0 8
Input (W) 11.2 Connectable indoor unit total capacity 16.0HP(154kBtu/h,44.8kW,12.73RT) or less
Refrigerant R410A Connectable indoor unit total capacity per branch |6.0HP(54kBtu/h,16kW,4.77RT) or less
HCHM-NO8XA
View from P P . :
60x7 =420 Refrigerant Liquid Pipe + Unit: mm - (inch)
Ci
(2-518) (Z-3BRr=T6-5716) (8 X B9.52 (3/8)Flare Nuts) 20 580(22-13/16)
v 2-3/8) (13/16, (For Suspension Bolt)
oe 13Tk D
83 =] e ¢ Refrigerant Gas
Cle y @4 —F— Pipe Connection ©
. — (8 X ©15.88(5/8)
C——————— + Flare Nuts) <
Indoor Unit Connecting Side
Suspension Bracket
551(21-11/16) 4-(12(1/2) x 32(1-1/4)) Slotted Hole
199 352 _ 780(30-3/4) Rei . Refioerant Liauid
Jo eirigerant Liqui
| 67 38 543(21-3/8) 38 (Heigl;;,fg:,nére::ure) PipeI onnection
- (2-5/8) (1172 1-112) Pipe Connection (1D. @12.9(1/2))
B Electrical Box (1.D. ©22.36(7/8)) R =3
Y e
gl - . _ crondTemna___/} = JE .
3 . <]S  (M5(W3716)) 2 ¥ i =]
N i d 4 (in Electrical Box) . . [
1EN I ANE i) . 8ff oIf P
X - " s[% Tl T-15/16)
Power Supply Wiring *m]m mr/; ?ggrggvzlg?sﬁg;’;ecmn - o o
Connection ($22(15/16)) Refrigerant Gas 244
= (Low Pressure) ©-508)
3 Pipe Connection
2 (1.D. ©28.75(1-1/8))
{ Outdoor Unit Connecting Side
Model HCHM-NO8XA Net Weight 25.2kg(55.61bs)
220-240V ~ 50Hz ;
Power Supply 208-230V ~ 60Hz Number of connectable indoor units per branch 1t08
Input (W) 22.4 Connectable indoor unit total capacity 30.0HP(290kBtu/h,85kW,24.14RT)or less
Refrigerant R410A Connectable indoor unit total capacity per branch | 6.0HP(54kBtu/h,16kW,4.77RT) or less

4



HCHM-N12XA
Unit: mm (inch)

View from P
Refrigerant Liquid Pipe Connections P
(12 x $9.52(3/8) Flare Nuts)
67 60 x 11 =660 - +
§oex11=26) 2 820(32-1/4)
(13/16) (For Suspension Bolt)

Refrigerant Gas Pipe Connection\

(12 x $15.88(5/8) Flare Nuts)
Indoor Unit Connecting Side

Suspension Bracket

551(21-11/16) 4- (12 (1/2)x 32(1-1/4)) Slotted Hole
(71192?/16) (1?572/8) s 1020(40-5/32) Refrigerant Gas Refrigerant Liquid
86 =+ | 67 38 783(30-13/16 38 (High/Low Pressure) Pipe Connection
g ey teoreaiBo Yy (12| Hie Comnecton g / (D 016168)
e| & [ Ground Terminal(M5(W3/16))/F . u
g el . [ (inElectrical Box) s Y bf e
|E S o2 50
ower Su rin (e (1- 7/8 (2- 71 7/8 121/32 Control Wiring Connection i ; [7-15716)
Connacton (SE3CISHE) o 1t \ /, 2w N\ /[ 7xO2015/16) " Reigerent Gas / J—@?ﬁe)e
2-314) T (3761 ] (Low Pressure) 244
7EE S Pipe Connection (0-5/8)
2R T (1.D. ®28.75(1-1/8))
= Outdoor Unit Connecting Side
al
Model HCHM-N12XA Net Weight 35.5kg(78.3lbs)
b Supol 220-240V ~ 50Hz ; N ] o . N ]
ower Supply 208-230V ~ 60Hz umber of connectable indoor units per branc to 6
Input (W) 33.6 Connectable indoor unit total capacity 30.0HP(290kBtu/h,85kW,24.14RT) or less
Refrigerant R410A Connectable indoor unit total capacity per branch | 6.0HP(54kBtu/h,16kW,4.77RT) or less

HCHM-N16XA
View from P Unit: mm (inch)
Refrigerant Liquid Pipe Connections
(16 x ©9.52(3/8) Flare Nuts)

67 900(35-7/16)

(2-5/8 P
60
¥ 2-3/8) v

o | [ T e o T T T ONdT}

@z " - " " 20 1060(41-3/4)
- Y Y (13716) (For Suspension Bolt)

1
Refrigerant Gas Pipe Connection |
(16 x ©15.88(5/8) Flare Nuts)

Indoor Unit Connecting Side

110
(@-5/16)

Suspension Bracket

551
(21-11716) 4- (12 (1/2)x 32(1-1/4)) Slotted Hole
199 352
[T-13r0) (13-778) | _ 1260(49-5/8) ) Refrigerant Gas Refrigerant Liquid
. |86 67 38 1023(40-1/4) (High/Low Pressure) Pipe Connection
HTEeE T (258) . (1722, (1_318,2) Pipe Connection \ (1.D. ©19.3(3/4))
= | BT = Electrical Box it (1.D. ©28.75(1-1/8)) "
off | |
gz =1 | Ground Terminal (M5(W3/16))/[ -
< = (in Electrical Box) RS =
3| g 48 8 2 50
510 > =
Power Supply Wiring =hlg Control Wiring Connectlon &Y (1-15/16)
Refrigerant Gas (71_%91

Connection (®22(15/16)) Relrge s
ow Pressure 244
Pipe Connection (9-5/8)

(1.D. ©32(1-1/4))

Outdoor Unit Connecting Side

46.7kg(103.0lbs)

Model HCHM-N16XA Net Weight
220-240V ~ 50Hz ; . .
P Suppl ’ Number of connectable indoor units per branch 1to 6
OWETSUPPY T 508.230V ~ 60HzZ P
Input (W) 44.8 Connectable indoor unit total capacity 30.0HP(290kBtu/h,85kW,24.14RT) or less
Refrigerant R410A Connectable indoor unit total capacity per branch |6.0HP(54kBtu/h,16kW,4.77RT) or less



4. Control system

4.1 Refrigeration Cycle

HCHS-N(06/10)XA

<=2 Indoor Unit Side . . Outdoor Unit Side =>
Electronic Expansion i
Valve [MVD:] Strainer | )
. ® ' ' OS L )--- High/Low Pressure

H Gas Pipe Connection

Electronic Expansion !
Strainer Valve [MVSi] Strainer
Low Pressure

Gas Pipe Connection - - §—=—+&—+—H R O+ Gas Pipe Connection

—— : Flare Nut Connection

— 1! Brazing Connection
£ Switch Box

HCHM-NO04XA
———————————— G (High/Low Pressure)
r——————= G (Low Pressure)
I o
To Outdoor Unit Side
b | 0d | 0s| e
L& |4 & (& & 14 N
= %) a|» o |®m o |m I
> |2 > |2 > |2 > |2
= (= = (= = (= = (=
\% \% \% \% A\ \% \% \%
| |
N C) ® ® ® J'
T L T L T L T L
G G G G
Unit D Unit C Unit B Unit A
To Indoor Unit Side
Y
Mark Part Name G : Refrigerant Gas Pipe Connection
- - L : Refrigerant Liquid Pipe Connection
Electronic Expansion Valve ---- : Field Refrigerant Piping

—t— : Flare Connection
—t+ : Brazing Connection
™ : Switch Box

Strainer

@®




HCHM-NO8XA

_________ G (High/Low Pressure)
_______ G (Low Pressure)

It
To Outdoor Unit Side

N—N—
N—N—
N—N—
N—N—
N—N—
N—N—

|
| A
N——|
|
|
N——|
|
|
N——|
|
|
N——|
|
|
N——|

@ v

\éb\g@)\\éb BB ok | b \39\\250
ATA ATA ATA ATA ATA ATA ATA ATA

| < | < @M NN — | < | < [solKse} NN — |+ |

| [a} )] (e} aln aln [aR{%] [aR)] (2R [aR?)] |
>|> >|> >|> >(> >(> >(> >(> >(>
== =S(= == == == == == ==
V|V V|V V|V V|V V|V V|V V|V V|V

N
(¢
N
(¢
(®
(t
(®
{

UnitH UnitG UnitF UnitE UnitD UnitC UnitB UnitA
To Indoor{}Unit Side

HCHM-N12XA

————————— G (High/Low Pressure)
------- G (Low Pressure)
- L

- I
@ To Outdoor Unit Side

3 I [ I I I I
@ \ \\&J\ \\é{) \\ \\g)@ \\é{) \\\é@ \ \/ \g@ \g@ g{) \g@ \ N\
ATA AT A ATA ATA ATA AT A ATA AT A ATA ATA ATA ATA
< |t el Koo} NN == ©|© 0|0 ©|© 010 < | <t [sel Ko} NN ||
Qv Qv Qv Qln Qv Qv Qv Qv Qv Qv Qln Qv |
== >|= == == == == >|= == >|= == == >|=
== =|= == == == == =|= == =|= == == =|=
V|V V|V V|V V|V V|V V|V V|V V|V V|V V|V V|V VIV

~o
©
6
@)
™6
N
<7
N
<7
%
N
7
6
I
<7
@}
L

= L = L = L = L = L = L = L = L = L = L = L = L
G G G G G G G G G G G G
UnitL  UnitK Unitd Unitl UnitH UnitG UnitF UnitE UnitD UnitC UnitB UnitA

To IndooE}Unit Side

Mark Part Name G : Refrigerant Gas Pipe Connection
- - L :Refrigerant Liquid Pipe Connection
@ Electronic Expansion Valve ----: Field Refrigerant Piping
: — : Flare Connection
trainer
@ Straine —— : Brazing Connection

1 : Switch Box



HCHM-N16XA

G (High/Low Pressure)
— G (Low Pressure)

i

)

— L

Outdoor Unit Side

Iyni
1 O®

Nt
Nn—|

;  J J J i3 o I ]
N | | | [ [ [ [ [T 57 [ [ [ [ [
Qggg/) /éél é{/ /égl /ég)/) /ééu /ég/) /éé/) /éé/) /éé/)\ \é@)\ \é;\ \QJ@J\ \g)@)\ \é;\ \&)
| 1813|1818 1818 1815 T8[5| T8[4| T&[8| [81a] [814] [&]4] [&]4| [&]5] [3[3| [8]3| [3[3| 43| |

::(J_*)/l
::@/

— @
::@/
—@

—@

—@
::@(

b

G

-

G

G G G G G

UnitP UnitO UnitN UnitM UnitL UnitK Unitd  Unitl UnitH UnitG _UnitF UnitE UnitD UnitC _UnitB _UnitA

L L L L L
G G G G G G G G G
UnitP. UnitO UnitN _UnitM UnitL UnitK UnitJ Unitl  UnitH
Indoor Unit Side
O
Mark Part Name

Electronic Expansion Valve

Strainer

G : Refrigerant Gas Pipe Connection
L : Refrigerant Liquid Pipe Connection
----: Field Refrigerant Piping
— : Flare Connection
—t+ : Brazing Connection



4.2 Electrical Wiring Diagrams
HCHS-NO6XA, HCHS-N10XA
______ oL
Power source details —
refer to the nameplate § ===~ [0
I L& &]\rs
® |
@. ....... -d
,J, PCB1
JaZ ] (H E X (68
E EFRE JEFS
= (3150 §_J(3.150)
a7
@@E\ ]C_\IE
7=
o2 [olelole]
o
Outdoor  Indoor
Unit Unit
]
MVD1 VST @)
- ©n — _ .
& PcBi
Electrical Control Box v
®

Arrangement of Micro-Computer Control
Expansion Valves (View of the Top)

Electrical Control Box

Mark | Torque to tighten the terminal Screw Size
TB1 1.0~1.3(N-m) M4
TB2 0.7~1.1(N-m) M3.5

Mark Name Remark
PCB1 Printed Circuit Board
TB1 Terminal Block Power Supply
TB2 Terminal Block Operating Line
Micro-Computer Control
MVD1 MVS1
Expansion Valve
NF1 Noise Filter
EFR EFS Fuse




HCHM-NO4XA

] o1
Power source details —
refer to the nameplate 17~ | B
1 & & e
@ |
P — J
h PCB1
pu 2] PN 2
D FQ [
=1 I,
A : N2 pry
& é;_ g NI
(ivp: Z ; N3 gcm
A8l 18]
(V. /-4: N4 g CN12 -
/-ZE. g []
vs B3 |\ ol :,
= =lo]
3 .
R 3 o o708 0w c i rsan
s T
sy s T IERRRREE
[ RREREEE
[ EEREEN
[ EEREEN
I EEREEN
L Bk
. Outdoor
Indoor Unit Unit Indoor Unit
A | B | C | D
E T
MVD1{HVD2| VD3| MVD4 ]
@ TB1
© I | ® PCB1
MVS1 [MVS2[MVS3| MVS4
B2
5 CRl e
Electrical Control Box

Arrangement of Micro—Computer Control
Expansion Valves (View of the Top)

Electrical Control Box

Mark Torque to tighten the terminal ScrenSize
TB1 1.0~1.3(N.
N 4
82 1.0~1.3(N-m)
1834 0.7~1.1(N-m) M3.5
Mark Name Remark
Printed Gircuit Board
Indoor Unit Vark PCB1 rm.e ircuit Boar
TB1 Terminal Block Power Suppl!
183-3 VD1 : PpLy
Indoor Unit A 1834 WSt 82 Terminal Block Operating Line[Outdoor Unit]
TB3-5 MVD2 183, 4 Terminal Block Operating Line[Indoor Unit]
Indoor Unit B L
PGB TB3-6 MVS2 MVD1~4 |Micro-Computer Control
, TB4-7 WD3 MS1~4 |Expansion Valve
Indoor Unit C TB4-8 WS3 . .
NF1 Noise Filter
. TB4-9 MVD4
Indoor Unit D TB4-10 WS4 EFR EFS: |Fuse

10




HCHM-NO8XA

Power source oL TB1
details refer { o
to the nameplate - I

4.9 %%
EEI [ X1
EELNIE

PCB1

111213 14

SANNR
sxafg

Y5 7Y /Y,
ERex

99 [o 9]
Y4949 7445 1. /4477

] o |
0 ——
U:?:w Indoor Unit
Indoor Unit
A|B|C|D E|F|G|H
kf: T T T T
INDT | IND2 [ D3 | WNDA | VD1 | IND2 % % U
@ @ :’]:n PCB1 PCB2
IVSH | IVS2 [ INVS3 | VS | HVS1 | HVS2 [ INS3 | NS4
E T83][TB4 T83][TB4
PCB1 PCB2
Arrangement of Micro-Computer Control Electrical Control Box
Expansion Valves (View of the Top)
Mark Torque to tighten the terminal Sorew Size
TB1 1.0~1.3(N.
(N-m) "
82 1.0~1.3(N-m)
834 0.7~1.1(N.m) M3.5
Indoor Unit Mark
. TB3-3 MVD1
Indoor Unit A B34 ST
. TB3-5 MVD2
Indoor Unit B
Sl e
PCB1, 2 |Printed Circuit Board Indoor Unit C TB4-8 WS3
TB1 Term!nal Block Power Supply Indoor Unit D %i:;?o ng
TB2 Terminal Block Operating Line[Outdoor Unit] 833 1
B3, 4 Terminal Block Operating Line[Indoor Unit] Indoor Unit E B3-4 ST
WD1~4 |Micro-Computer Control Indoor Unit F TB3-5 MvD2
WS1~4 |Expansion Valve PCB2 TB3-6 MVS2
Indoor Unit G 1B4-7 MVD3
NF1 Noise Filter TB4-8 MVS3
Indoor Unit H 1B4-9 MVD4
EFR: EFSi |Fuse TB4-10 MVS4

11




HCHM-N12XA

12

Power source ——]-ol 181
details refer J PP
to the nameplate — [ NF1
| .
® |
@. ______ 4
P f PCB1 PCB2
/_,4:‘ PON 2 ,.,4:‘
VD =g B3 [
B sl
VD i ~\ EE (VD B[] o
%-- == ;:. ol 8
— X —
v D: Z » “‘m (VD (v D: 4 S b ==
z:' :E z:' " :E
U ff' “"'m_; 2 & ; =\ =
7 = o %5 = o
m /] » mt\'\ :E:Eghldoof £;= _)I\H E;@ :‘i éhdoor
f:_' = fm{ 7zl = fUnit
% % ] ) ™ TB4 % % ™ B
o6 o o8 B o k 5 J NG ol N8 09 N0 E 56 7
[p90909] [goeso0] |§ i] | J [7p9909] [o9pg00] o o]
7 %7 % W 7 X iy A7) ”W
NI\ Ilﬁfl RRRRRRE \ \ REERRRER
D ERRRERE i“ EERRRRE
S W I et s VS IRRRERRE!
IR
i IRERRERE i
!! trrrrend T
Outdoor @ ~—.—'
Init Indoor Unit Indoor Unit
Indoor Unit
AIBICGIDIEILEILGIHIL 1JIK]L
M r e Hf H o
g (0 (g (0 57
® ® PCB1 E PCB2
00\ O\ C\C\C\O\C\©
= | & | | | o | o | & | |
vt s e wse s s e s [E3ITES TB3]184
PCB1
Arrangement of Micro—Computer Control Electrical Control Box
Expansion Valves (View of the Top)
Mark Name Remark Indoor Unit Nark
PCB1, 2 |[Printed Circuit Board Indoor Unit A ngj Wg}
: : TB3-5 MVD2
TB1 Term!nal Block Power Supply Indoor Unit B TB3-4 Ws2
TB2 Terminal Block Operating Line[Outdoor Unit] Indoor Unit G TB4-7 MVD3
. . . . PCB1 TB4-8 MVS3
TB3,4,5 |Terminal Block Operating Line[Indoor Unit] D TR4=9 D4
ndoor Unit
MWD1~6 |Micro-Computer Control {.ggj? mgg
WS1~6 |Expansion Valve Indoor Unit £ T85-12 | WS5
NFI |Noise Filter Indoor Unit F Theta| e
: TB5-11 MVD5
EFR EFSi |Fuse Indoor Unit & TB5-12 | MVS5
; TB5-13 MVDé
Indoor Unit H B5-14 WS4
. TB3-3 MVD1
Indoor Unit | o082 TB3-4 WS1
Indoor Unit J 1B3-5 MvD2
Mark [Torque to tighten the terminall Screw Size TB3-6 MVs2
81 1.0~1.3(N - m) " Indoor Unit K 1 ot
T SR s Indor Unit L S
4 . . m . TB4-10 MVS4



HCHM-N16XA

Power source TB1

. llll'Q:_
details refer I
to the nameplate [—4 re 4] NF1
_

PCB1

=] Indoor

s
PRz T %QN
(ivD ) o0
k FFR
—— (3. 154)
Pazs
(v 02 =
\u- o mWé
Wmron =
(VD iR —
\. o3 n“é
P vo» o8 —
oM =0 .
k =2
72— o
K =) mC
oS [ == B
HC — T
P in: 83 B4
MVS? NG QT O N9 Q0 4567 9 10 v,
3| [ovepoe] [o .Cm_ [ 5] Islelelololelolel
A, 4% %Y. % AL H Y9 Yo A,
1\ I\ T2 IBEEEEE!
= [EEEEEEN
& VS T8 FErrrrnd
Il [EEEEEEN
Il FErrrrnd
" " [EEEEEEN
njufa]n)
o|¢|s
Qutdoor
, Indoor Unit
Unit

=|(nit

PCB2

on1

VD:

2028202

%; 2

]
.
-
]
S —{\vD
5] i &
[~
ove H—3V5
‘. Niz| O m
o] ST~ Y~ MQ
o™ mwg = m\ =] 1ndoor
e Z <Jlnit
s 183 TB4
o ol o o N1 345678910
< 1Y 1Y vd ) _ _ _ — ..............
9, X LAY, % AN Yo A

Hjaym
—_—

Indoor Unit

PCB3

ogofegogoge
\ NN N \ \

CN13)

ON12|

111213 14
£ [e]o]e]o]

B3
5 6 7

ko
=

r
r
<

N\
N
§.

2

tod 4t

—_—
Indoor Unit

13



HCHM-N16XA

Indoor Unit Mark
- MVD1
Mark Name Remark Indoor Unit A 183 | Wsi
PCB1, 2, 3|Printed Circuit Board TB3-5 MVD2
TB1 Terminal Block Power Supply Indoor Unit B T83-6 L
: . : : , TB4-7 MVD3
B2 Terminal Block Operating Line[Outdoor Unit] Indoor Unit 0 PCB1 TB4-8 MVS3
TB3,4,5 |Terminal Block Operating Line[Indoor Unit] [ndoor Unit D %2:(1?0 Wgﬁ
MVD1~6 |Micro-Computer Control Indoor UnitE }Eg:]% ng
MVS1~6 |Expansion Valve TB5-13 MVD6
[ndoor Unit F TB5-14 MVS6
NF1 Noise Filter , TB5-11 MVDS
Indoor Unit G TB5-12 MvS5
EFR: EFS: |Fuse TB5-13 MVD6
Indoor Unit H TB5-14 MVS6
. TB3-3 MVD1
[ndoor Unit | PCR? TB3-4 MVS1
, ¢ 835 | VD2
[ndoor Unit J TB3-6 MvS2
| . , TB4-7 MVD3
Mark |Torque to tighten the terminall Screw Size Indoor Unit K 1B4-8 MVS3
TB1 1.0~1.3(N-m) m Indoor Unit L %2:(1)0 ng
182 1.0~1.3(N - m) , 1B3-3 MVD1
18345 0.7~1.1(N* m) M3.5 Indoor Unit M TB3-4 MVS1
. 1B3-5 MVD2
Indoor Unit N PCBA TB3-6 MVS2
. TB4-7 MVD3
Indoor Unit 0 TB4-8 MvS3
_ TB4-9 MVD4
Indoor Unit P TB4-10 MvVS4

Indoor Ur]it

©
o)
©
O
1)
O
1(©®)
©
O
O
N

ST | MVS2 [ WNS3 [ NVS4 | VS | INS6 [ IS5 [ WVSo | VST | WVS2 | NS3 (NS4 [ INS

E PCBI

=
e
<
~>
=
o
[<]
S
=
-
<3
o~

PCB2 PCB3

Arrangement of Micro-Computer Control
ExpansionValves (View of the Top)

] ] o ]
BT
® PCB1 1 PCB2 PCB3
TB2
TB3|TB4 TB3]TB4 TB3|[TBA

Electrical Control Box

14



4.3 Electrical Wiring and Settings
4.3.1 Switch Box HCHS-N(06/10)XA

Electrical Wiring
The electrical wiring connection for the Switch Box is shown below.
e Turn OFF the main power switch and take off the electrical box cover of Switch Box.

» Connect the power supply wiring to L1 and N on the terminal block TB1, and connect ground wiring to
the terminals in the electrical box.

* Connect the communication cable to “1”, “2”, “3” and “4” on the terminal block TB2 mounted on PCB1.
» Tightly clamp the wires using the cable clamp inside the electrical box.
» Attach the electrical box cover after completing the wiring work.

Communication Cable Communication Cable Terminal Block for Terminal Block
to Outdoor Unit to Indoor Unit Communication for Power Supply

| ®

Connecting Hole for
Communication Cable

Connecting Hole for

Cable Clamp Ground Wiring Power Supply Wiring Power Supply Wiring

@ Electrical Wiring Connection

» Perform the electrical wiring work for the Switch Boxes. Select the wire size according to the table below.
» Pay attention to the marks on the terminal block when connecting wires for Switch Box and indoor unit / outdoor unit.

Power ELB Earth Wire | Power Source Cable Size | Communication Cable Size, CB | Maximum
Model .
Supply (A/mA) | Size (mm2) |  EN60 335-1(mm2) *1 EN60 335-1 (mm2)*1 | (A) | Current (A)
HCHS-NOBXA | 220-240V ~ 50Hz
- 15/30 2.0 0.75 0.75 3.15 0.1
HCHS-N10XA | 208-230V ~ 60Hz
NOTE

* Follow local codes and regulations when selecting field wires.

*  The wire sizes marked with *1 in the above table are selected at the maximum current of the unit according to the European Standard,
EN60 335-1. Use the wires which are not lighter than the ordinary tough rubber sheathed flexible cord (code designation HO5RN-F)
or ordinary polychloroprene sheathed flexible cord (code designation HO5RN-F).

* Use a shielded cable for the transmitting circuit and connect it to ground.

15



Setting of DIP Switches

DSWs for the Switch Box HCHS-NO6XA/N10XA are set as shown below .

TURN OFF the power supply before adjusting DIP switch
settings. Otherwise,the settings will be invalid and not take effect.

e Setting before shipping ® Setting of forced opening of MVS and MVD.

DSW1/DSW4/DSW5/DSW6 DSW2 DSW3 Setting on DSW1

No setting is required. No setting is required. No setting is required.

ON

Wi (alulal whEH D g g g D g

1234

MVS= 0 MVS=100% MVS=100%
e Fuse Recovery MVD=100% MVD= 0 MVD=100%

In the case of applying high voltage to terminals of TB2,
the 0.5A fuse on the PCB is cut.

In such a case, first reconnect the wiring correctly to
the terminal block, and then set the pin to ON.

« DSW8(for TB2-1/2)

ON ON
1 2 1 2
Factory Setting Fuse Recovery

* DSW7(for TB2-3/4)

ol'| Il

Factory Setting Fuse Recovery

NOTICE

- - NOTE
All indoor and outdoor units must be shut

down prior to attempting to make DIP Switch The “W’ mark indicates the position of DIP

adjustments, otherwise, the settings will not switches. Figures show setting before shipment.
take effect.

16



4.3.2 Switch Box HCHM-N(04~16)XA

Electrical Wiring

The electrical wiring connection for the Switch Box is shown below.

Turn OFF the main power switch and take off the electrical box cover of Switch Box.

Connect the power supply wiring to L1 and N on the terminal block TB1, and connect ground wiring to
the terminals in the electrical box.

Connect the communication cable between the outdoor unit and Switch Box to TB2 of the Switch Box.
Connect the communication cable between the Switch Box and indoor unit to TB3, TB4 and TB5 of the
Switch Box. Ensure that the communication cable between the Switch Box and indoor unit is connected
to the same letter as piping connection.

(Tightening Torque: 1.0 to 1.3 N.m (0.7 to 1.0 ft.Ibs)).

Tightly clamp the wires using the cable clamp inside the electrical box.

Attach the electrical box cover after completing the wiring work.

17



Terminal Block . L
Ground Terminal Terminal Blocks for Communication

for Power Supply

[__between Switch Box and Indoor Unit

.%S Nullal . T
N
)

— ==

Wire Clip
(Use to route wiring) \
Cable Clam Communication Cable

Communication cable between the
outdoor unit and Switch Box. Control Wiring

gg:r?;gil(ﬁply Wiring Connection
(a) HCHM-NO4XA
Ground Terminal Terminal Block Terminal Blocks for Communication
for Power Supply / between Switch Box and Indoor Unit

NF
IS

TB1

" ooy @l oo

osnl) @88 osve
D | = .-

{1 EE
== E ool B o>
ETE =1t
0
f
l
@

A
EERRIRERE)

Wire Clip
(Use to route wiring)
Cable Clamp, Communication Cable
Communication cable between the
outdoor unit and Switch Box. Control Wiring
Connection

Power Supply Wiring
Connection

(b) HCHM-NO8XA
18



Ground Terminal Terminal Block Terminal Blocks for Communication
or Power Supply / between Switch Box and Indoor Unit

0= = _U0Oa

Wire Clip

Power Supply Wiring

Communication Cable

Connection Communication cable between the
outdoor unit and Switch Box.

Control Wiring Connection

-
@ @ ©

etV v VO TV BOV 1) \{ \{ v T oo v

(c) HCHM-N12XA

Ground Terminal Terminal Block Terminal Blocks for Communication
for Power Supply / between Switch Box and Indoor Unit

Tkl
1t
[ ) o o o )

o
e — - —

Wire Clip

(Use to route wiring) Cable Clamp
Power Supply Wiring
Connection Communication Cable

Communication cable between the
outdoor unit and Switch Box.
Control Wiring Connection

®® OME

\J A4 va o v g v o

(d) HCHM-N16XA

TB1: Terminal Block for Power Supply; TB2: Terminal Block for Communication;
TB3, TB4: Terminal Block for Communication
@ Electrical Wiring Connection

» Perform the electrical wiring work for the Switch Boxes. Select the wire size according to the table below.
» Pay attention to the marks on the terminal block when connecting wires for Switch Box and indoor unit / outdoor unit.

Power Earth Wire = Earth Wire | Power Source Cable Size | Transmitting Cable Size | CB Maximum

M | . .
ode Supply | Size (mm?) | Size (mm?) EN60 335-1(mm?2) *1 EN60 335-1 (mm2)*1 (A) | Current (A)
HCHM-NO4XA 0.2
HCHM-NO8XA | 220-240V 0.4
~'50Hz - 2.0 15/30 0.75 0.75 3.15
HCHM-N12XA | 505 930y 0.6
HCHM-N16XA |~ 60Hz 0.8
NOTE

* Follow local codes and regulations when selecting field wires.

*  The wire sizes marked with *1 in the above table are selected at the maximum current of the unit according to the European Standard,
EN60 335-1. Use the wires which are not lighter than the ordinary tough rubber sheathed flexible cord (code designation HO5RN-F)
or ordinary polychloroprene sheathed flexible cord (code designation HO5RN-F).

* Use a shielded cable for the transmitting circuit and connect it to ground.

19



Setting of DIP Switches
DSWs for the Switch Box HCHM-NO4XA/NO8XA/N12XA/N16XA are set as shown below .

TURN OFF the power supply before adjusting DIP switch settings.
Connection ports Otherwise,the settings will be invalid and not take effect.

for indoor unit

—=A B C D ... M N O P
DD D7 @ In-situ setting
DSW2 Connection Port Setting DSW3 Connection Port Setting
PCB1 PCB3
DSW1 DSW1 This setting is required. This setting is required.

DSW3 DSW2 DSW3| /__DSW2 When the connection port is not used, turn ON the When the connection port is not used(only for
= DSw4 ==z application pin shown in the table6.3 HCHM-N12XA/N16XA), turn ON the application
—N\DSw6 |  ...... —~DSW6 pin shown in the table6.3
\DSW5 \DSW5

DSW7 DSW7 ON (Example) ON (Example)
AN DSW8 AN DSW8 E?; When connection port "D" is not used, FEEE When connection port "F" is not used,
turn ON DSW2-No.4 pin on PCB1 turn ON DSW3-No.4 pin on PCB1
@ Setting before shipping
DSW1/DSW4/DSWS/DSW6 DSW2 Table 6.3 Cross reference table of DIP switch settings and connection ports for
- . indoor unit.
No setting is required. No setting is required.
HCHV-NOSXA
oY N JODELS IO Y011
?EEE Connection ports for indoor unit A | B rc | D IE | F | G | H
?EEE PCB No. PCBL PCB2
DSW2 Pin No. T2 I3 T4T1T2T3T4
Setting before shipping for PCB1/PCB2 of HCHM-N04XA/NO8XA and MODELS - HCHM-N16XA
for PCB3 of HCHM-N16XA : H Nk
- . Connection ports for indoor unit AJBJCIDITETFTcTHTITITJTIKTL M INToO TP
DSW3 CB Yo. PCBL PUB2 U5
- . DSW2 Pin Yo. T2 T3 74T 1 [ TrleJsTafrfaTsTs
N i d.
o seing s requte DSV Pin . I N A I T 11
ON
FEQQ DSW7/DSW8 ] Fuse Recovery
In the case of applying high voltage to terminals of TB2,TB3,TB4 or TB5,the 0.5A

fuse on the PCB is cut.In such a case,first reconnect the wiring correctly to the
terminal block,and then set the, pin to ON.

DSW8(for TB2) DSW?7 (for TB3 and TB4 and TB5)

Factory Setting Fuse Recovery

No setting is required. ON ON
ON 12

Setting before shipping for PCB1/PCB2 of HCHM-N012XA and N16XA.
DSW3

Fuse Recovery

ON
12

Factory Setting

ON
12

bkt

@ Setting of forced opening of MVS and MVD. Setting on DSWA1

MVS=100%
MVD=100%

MVS=0 MVS=100%
MVD=100% MVD=0

i u

NOTE

The “W’ mark indicates the position of DIP switches. Figures show setting before shipment.

NOTICE

All indoor and outdoor units must be shut down prior to attempting to make DIP Switch adjustments,

otherwise, the settings will not take effect.

20




5. Sound Data

Octave Sound Pressure Level (dB(C))

Model: HCHS-N06XA, HCHS-N10XA

Measurement Point: 1 Meter from the
Switch Box Bottom Surface

Noise Criteria Curve

90

80

Ay
thad g

N
/

[} Ak W

/

/

70

i

/

/.

60

Il
/

N

50

/

M

l’y |

40

A nndudlAdididily

/
v
rararm
/I
I
/

39 = ENC-30E
ES E: = = =
Approxxmatek 7\75 ?;\?kj =
20| Theeshold of ] 3 ES = NC-p0== =
Hearing for 3 M ;K;\ME; =
Continuous Noise = % E3 = <
10 L T ol o S S —
63 125 250 500 1000 2000 4000 8000
Central Frequency (Cycle per Second)
Qverall
[Operation Sound| 33dB(A) |
[Max Sound | 46dB @A) |
NOTE

1.

2.

The readings were taken in anechoic chamber. Sound in actual status may get bigger due to surroundings
noise or echo. Take noise source into consideration to look for proper installation location.

Switch Box operation sound may be heard even if the indoor unit has stopped while the outdoor units are
in operation and the other indoor units are at Thermo-ON.

“Operation Sound” is the Switch Box operation sound when the whole system is in either cooling or
heating operation.

(Not in cooling and heating operation)

“Maximum Sound” is the maximum value of Switch Box operation sound while the unit is in cooling and
heating operation or defrosting.

The maximum sound may be exceeded during transient operation such as switching to Defrosting Mode.
Ensure the installation place.

Do not install the Switch Box in a place near bedrooms or hospital

rooms.(Refer to the Installation Manual.)

21



))

Octave Sound Pressure Level (dB(C

Octave Sound Pressure Level (dB(C))

Model: HCHM-NO4XA \

Measurement Point: 1 Meter from the
Switch Box Bottom Surface

90

Noise Criteria Curve

80

I

70

60

il

50

40

Ay Waavayi
=

30

Appro}?mate
2 Q| Threshold of

W/

P=
=1

Hearing for
Continuous Noise 3=

S

1053125 250 00 4000 8000
Central Frequency (Cycle per Second)
Qverall
[Operation Sound| 31dB(A) |
[Max Sound | 43dB(A) |

Model: HCHM-N12XA \

Measurement Point: 1 Meter from the
Switch Box Bottom Surface

Noise Criteria Curve

90 = - = ==
80 =
70 5 ES =
-
60 = E
50 = =S E
40 S
30— e S =
Appruﬁma[e?ﬁ /é? =
Theeshold of =S
20 He;ifng [a: m7 —
Continuous Noise = E—— =
| e T = T
63 125 250 500 1000 2000 4000 8000
Central Frequency (Cycle per Second)
Overall
[Operation Sound| 34dB(A) |
[Max Sound | 48dB (A |
NOTE

Octave Sound Pressure Level (dB(C))

Octave Sound Pressure Level (dB(C))

Model: HCHM-NOBXA \

Measurement Point: 1 Meter from the
Switch Box Bottom Surface

Noise Criteria Curve

90 — -
80
70
>0 o —
40 TS —
30 = E2
Appra:(_imue 7\7557
2 0| Threshold of =+
Hearing for @w
Continuous Noise 3=
polturimon Woisek
63 125 250
Central Frequency (Cycle per Second)
Overall
[operation Sound] 31dB(A) |
[Max Sound | 46dB(A) |

Model: HCHM-N16XA |

Measurement Point: 1 Meter from the
Switch Box Bottom Surface

Noise Criteria Curve

90 ES r 3
80
\?_\
. F 3
0 =
60 = = Ne-g03
N Iy
= o
20 NN E
40 = E == NC—40 3
S = e
30— \
Appro}imatek? /
Theeshold of  F ==
20 He;ign: m? ES Operation Sound
Continuous Nalseg? Ex +
1053 125 250 500 1000 2000 4000 8000
Central Frequency (Cycle per Second)
Qverall
‘Opera[ion Sound\ 34dB (4) ‘
[Max Sound | 43dBA) |

1. The readings were taken in anechoic chamber. Sound in actual status may get bigger due to surroundings noise or echo. Take

noise source into consideration to look for proper installation location.

2. Switch Box operation sound may be heard even if the indoor unit has stopped while the outdoor units are in operation and the

other indoor units are at Thermo-ON.

3. “Operation Sound” is the Switch Box operation sound when the whole system is in either cooling or

heating operation.(Not in cooling and heating operation)

4. “Maximum Sound” is the maximum value of Switch Box operation sound while the unit is in cooling and heating operation

or defrosting.

5. The maximum sound may be exceeded during transient operation such as switching to Defrosting Mode.

Ensure the installation place.

Do not install the Switch Box in a place near bedrooms or hospital rooms.

(Refer to the Installation Manual.)

22




6. Transportation and Handling

6.1 Transportation
Transport the product as close to the installation location as practicable before unpacking.

ACAUTION

Do not put any material on the product.

6.2 Handling of Switch Box

Do not put any foreign matters into the indoor unit and check to ensure that none exists in
the Switch Box before the installation and test run. Otherwise, a fire or failure, or something
similar may occur.

ACAUTION

Be careful not to damage insulation materials of unit’s surface when lifting.

6.3 Combination of Switch Box and Indoor Unit

Combination is as follows.

4 HCHS-N06/10XA

Table 6.1 Combination of Indoor Unit

Model HCHS-NOB6XA HCHS-N10XA
Number of Branch (for Indoor Unit) 1 1
Sinale Unit B h Maximum Total Capacity of All Connected 54kBtu/h 96kBtu/h or less
ingle Lnit per Branc Indoor Units Max. 16.0kW/6.0HP/4.77RT)|  (Max. 28.0kW/10HP/8RT)
Maximum Number of Connected Indoor 8 8
Multiple Units per Branch | Units per Branch
(*1) Maximum Total Capacity of All Connected 54kBtu/h 96kBtu/h or less
Indoor Units Max. 16.0kW/6.0HP/4.77RT) (Max. 28.0kW/10HP/8RT)

“D When multiple indoor units are connected to the same Switch Box , they are controlled with the same
operation mode.

NOTES:

1. Exceeding the total capacity may cause insufficien performance and abnormal sound. Be sure to connect
the Switch Box within the allowable total capacity.

2. If the indoor unit total capacity is 96kBtu/h(28kW/10HP/8RT) for HCHS-N10XA, the performance may
decrease approximately.

23



@ HCHM-N(04~16)XA

Table 6.2 Combination of Indoor Unit

Model

HCHM-NO4XA

HCHM-NO8XA

HCHM-N12XA

HCHM-N16XA

Number of Branches (for Indoor Unit)

4

8

12

16

Single Unit
Per Branch

Maximum Total Capacity of
All Connected Indoor Units

154kBtu/h or less
(Max. 44.8kW/16HP/12.73RT)

290kBtu/h or less
(Max.85.0kW/30HP/24.14RT)

290kBtu/h or less
(Max.85.0kW/30HP/24.14RT)

290kBtu/h or less
(Max. 85.0kW/30HP/24.14RT)

Maximum Total Capacity of
Connected Indoor Units Per
Branch

54kBtu/h or less
(Max. 16.0kW/6HP/4.77RT)

54kBtu/h or less
(Max. 16.0kW/6HP/4.77RT)

54kBtu/h or less
(Max. 16.0kW/6HP/4.77RT)

54kBtu/h or less
(Max. 16.0kW/6HP/4.77RT)

Multiple Units
Per Branch

Maximum Number of
Connected Indoor Units Per
Branch

Maximum Total Capacity of
All Connected Indoor Units

154kBtu/h or less
(Max.44.8kW/16HP/12.73RT)

290kBtu/h or less
(Max. 85.0kW/30HP/24.14RT)

290kBtu/h or less
(Max.85.0kW/30HP/24.14RT)

290kBtu/h or less
(Max.85.0kW/30HP/24.14RT)

Maximum Total Capacity of
Connected Indoor Units Per
Branch

54kBtu/h or less
(Max. 16.0kW/6HP/4.77RT)

54kBtu/h or less
(Max. 16.0kW/6HP/4.77RT)

54kBtu/h or less
(Max. 16.0kW/6HP/4.77RT)

54kBtu/h or less
(Max. 16.0kW/6HP/4.77RT)

NOTES:

1. Exceeding the total capacity may cause insufficient performance and abnormal sound. Be sure to
connect the Switch Box within the allowable total capacity.

2. In case of 76kBtu/h(22.4kW/8HP/6RT) or 96kBtu/h(28kW/10HP/8RT) type indoor unit connection:

Only single unit per branch is allowed to be connected.

Up to two 76kBtu/h(22.4kW/8HP/6RT) or 96kBtu/h(28kW/10HP/8RT) type indoor units can be
connected to the Switch Box within the “Maximum Total Capacity of All Connected Indoor Units”
shown in above table.

Make sure to increase the pipe connection size by using the appropriate accessory pipe.

24



7. Installation

A DANGER

Do not install the Switch Box in a flammable environment to avoid fire or an explosion.

Check to ensure that the ceiling slab is strong enough.

Do not install the Switch Box outdoors. If installed outdoors, an electric hazard or electric
leakage may occur.

Installation WARNING: Ensure that all safety features, disconnects and interlocks are in place
and functioning properly prior to putting the equipment into operation. Never by-pass or
jump-out any safety device or switch.

7.1 Factory-Supplied Accessories
Check to ensure that the following accessories are packed with the Switch Box.

NOTE

If any of these accessories are not packed with the unit, please contact your distributor.

Table 7.1 Factory-Supplied Accessories

Single Branch Switch Box(HCHS-N06/10XA) Unit: mm (inch)

No. Accessory HCHS-NO6XA Q'ty HCHS-N10XA Q'ty
(1) | Reducer ID 15.88 @))‘ ID19.05 | 1 - -
(ID 5/8) (ID 3/4)
@ ootz ) o) 2 | mms U oo | 2
(3) égfi?:gy,\lzit‘;e ID 19.3 OD 19.05 | 1 ID 19.3 @‘—",l‘) OD 19.05 | 2
(ID 3/4) (OD 3/4) (ID 3/4) (OD 3/4)
@ - o 0D e
®) (IIDD 51/%) @ 2 !
(6) (II:;D1 e?/(; 6) @ ! ;
" R'}Zt”é?.lﬁm (|IE[)) 72/%3) i i 2
(8) (||;D1 ES1%2) @ 2 !
©) (|Dl?-f13;16) @ L 2
(10) | Clamp 6 6

25



Multi Branch Switch Box(HCHM-N(04-16)XA)

Unit: mm (inch)

No. Accessory HCHM-NO4XA | Qty| HCHM-NO8XA |Q’ty| HCHM-N12XA |Q’ty| HCHM-N16XA |Qty
0 $15.88 (5/8) —» 9 . %D o % )| 12 g )| 16
ID ¢12.9 (1/2) Flarin Flarin Flarin Flarin
o| | e o | [ e f
Accessory 96.5 (1/4) Flaring Flaring Flaring Flaring
Pipe
$15.88 (5/8) —» <79 Sub) <79 <79
@) ID $19.3 (3/4) @‘—’l 2 @‘—’l 2 @‘—’1 2 ‘—’1 )| 2
$15.88 (5/8) —» =79 Si0) <79 San
@ ID 22.2 (7/8) Q}‘—’l ! Q‘_,l 2 @‘—,1 2 @‘—’1 )| 2
ID 26
5) @ 4 @ 8 @ 12 @ 16
) (ID 1)
Insulation
Material
6 ID 35 @ 4 @ 8 @ 12 @? 16
( (ID 1-3/8)
@) | clamp 17 34 51 68

26



7.2 Initial Check

e Install the Switch Box with a proper
clearance around it for maintenance working
space, as shown in Figure 7.1 below.

Single Branch Switch Box(HCHS-N06/10XA)

Unit: mm (inchf

B
Min. 100
(3-15/16)

y N |
V' |\ Service Access Door
(C]450 (17-11/16))

2-Suspension Bolt

M10 or W3/8
(Field-Supplied)

Upper Side
Min. 70 (2-3/4)

gy
N I
izl

& mee

Min.A  ——>p->>  Min.A
\ Min. 70 (2-3/4)

Bottom Side
Size
Model A
HCHS-NO6XA 300 (11-13/16)
HCHS-N10XA 400 (15-3/4)

Multi Branch Switch Box(HCHM-N(04-16)XA)
Unit: mm (inch)

Service Access Door 2

/ (01450) (17-11/16)

Service Access Door 1 (*)

Z (01450) (17-11/16)

N N
L X p X
AN FET T EETER RS ZAN
[IERRERERRRNARNI
e 50 || U )
8|5 (1-3%32 L~ =(1-31/32)2 s
5 ] E— S
° § \\ 7 Electrical Box
=21 PX
@ Z,, ﬁ Service Access Door 3

(C1450) (17-11/16)

Min. 300
(11-13/16)

4-Suspension Bolt

M10 or W3/8
(Field-Supplied)
Upper Side  Min. 100
(3-15/16)
v |
=
o
Min. 500
Bottom Side (19-11/16)
. Min. 100
Min. A (3-15/16)

* Service access door 1 is required for models

HCHM-NO04XA, HCHM-NO8XA, HCHM-N12XA and HCHM-N16XA.

Model S A
HCHM-NO4XA 100(3-15/16)
HCHM-NOBXA
HCHM-N12XA 400(15-3/4)
HCHM-N16XA

Purpose of Each Service Access Door

Name Purpose

Service Access | Use during inspection of indoor unit

Door 1

connecting side.

Door 2

Service Access |Use during inspection of indoor unit

connecting side.

Door 3

Service Access | Use during inspection of electrical

components inside electrical box.

Figure 7.1 Service Space

27



e Check to ensure that the ceiling is sufficiently
strong to sustain the Switch Box. If the ceiling
is weak, abnormal sound and vibration may
occur.

e \When the electronic expansion valve in the
Switch Box is activated, a change in the typical
refrigerant flow sounds may be heard or
perceived from the Switch Box. Take the
following action to minimize the sound.

(A) Install the Switch Box inside the ceiling. As
for the ceiling material, select a material like
a plasterboard at least 9mm (1 inch), which
minimizes operation sound.

(B) Do not install the Switch Box in a place
near bedrooms or hospital rooms.

e When the operation is changed to cooling/
heating mode, a change in the typical refrigerant
flow sounds may be heard or perceived from the
Switch Box.

Therefore, install the Switch Box in the ceiling of
the corridor so that the refrigerant flowing sound
may not be heard in the room.

e Do not install the Switch Box in a hot or humid
place, such as a kitchen, to prevent
condensation on the outer surface of the Switch
Box.

When installing the Switch Box in such places,
apply additional insulation.

e Pay attention to the following points when the
Switch Box is installed in a hospital or other
facility where there are electronic waves from
medical equipment.

(A) Do not install the Switch Box where the

electromagnetic wave is directly radiated to
the electrical box or communication cable.

(B) Install the Switch Box and components as
far as practicable or at least 3m (10 ft)
from the electromagnetic wave radiator.

(C) Install a noise filter when the power supply
emits harmful noises.
e Ensure the installation place is convenient
for the refrigerant piping or electrical wiring
connection.

e Do not drill, or drive screws into the cabinet. Use
only mounting points provided.

e In case the Switch Box is required to move from
the ceiling, prepare another service access door.



7.3 Suspension Bolts

Step 1
(1) Select a final location and installation direction of the Switch Box.
Pay careful attention to the space for the piping, wiring and maintenance.

(2) Mount suspension bolts.
(3) Mount the suspension bolts in the slotted hole on the electrical box side as shown in Figure 7.2

(4) Contact a qualified contractor or carpenter for the ceiling treatment.

Unit: mm(inch)

23(718), | 330(13) s

(For Suspension Bolt) 5

Suspension Bracket -

11(2-7/16) x 34(1-5/16) = — §
Slotted Hole d

—

Electrical Box

Single Branch Switch Box(HCHS-N06/10XA)

View from above Unit: mm (inch)

A
(For Suspension Bolt)

N
o

—_
[N
w
=
=
(22}
=

L 198
% % ﬁ % % (7-13/16)
1110,
(4-5/16) Size A
18 Model

| HCHM-NO4XA 340 (13-3/8)
HCHM-NO8XA 580 (22-13/16)

30
(1-3/16)
L
g
[
Z:AHB
g
=
")
—
-]
S—
g
[
g
e
::ﬂaa
p—
S—
—
]

[FAS

HCHM-N12XA 820 (32-5/16)

Bolt
5]
|

256 (10-1/16)
For Suspension

HCHM-N16XA 1060 (41-3/4)

Suspension Bracket
4x 12 (4-1/2) x 32 (1-1/4)
Slotted Hole

Multi Branch Switch Box(HCHM-N(04-16)XA)

Figure 7.2 Position of Suspension Bolts

29



Step 2
Mount suspension bolts, as shown in Figure 7.3.

@ For Steel Beam @® For Wooden Beam
Wooden Bar
o ) (60 to 90mm
Ant|sk|fj Clamp Suspension Bolt (2-3/8 to 3-9/16 inch) Square)
C-shaped (Bend it) 5 Nut Square
Clamp ?1 \é\?:rgen Washer
Nut
Suspension E | Beam s Nut
\/ / P
Bolt Wash
Support Angle : Suspension Bolt 3SNeT " Suspension Bolt
Suspension Bolt (M10 or W3/8) (M10 or W3/8)
(M10 or W3/8)
@® For Concrete Slab @® For Reinforcing Steel

(1) Hole-In Anchor

150 to 160mm
_(5-7/8 to 6-5/16 inch)

Insert
100 to 150 kg
(220 to 331 Ibs.)

-

PartB PartA

Steal Concrete
Unit Body  Use a hole saw Break a head portion Suspension Bolt
to make a hole. of anchor by using (M10 or W3/8)
T a hammer.
Inserting Fixing Fixing Bolt

(2) Resin Capsule

Use the resin capsule within the warranty period.
Resin capsules deteriorate over time and should be used within
six mounths of the manufacturing date. X @)

Glass "

Stone

Use a suspension bolt with 30 to 45° sloping edge.

X

Stiffening
Agent

Epoxy Resin
Resin Capsule Use a hole saw Inserting Ambient Temp. Time
to make a hole. (with impulse rotation) 20°C (68°F) | Min. 30min.
After inserting, do not rotate or put any force until resin is hardened. 15°C (59°F) Min. 1hr.
Required time is as shown in the table at right. 10°C (50°F) Min. 2hr.
5°C (41°F) Min. 4hr.
0°C (32°F) Min. 8hr.

NOTE:

@ Use a suspension bolt (W3/8, Metric screw thread: M10).
@ Prepare washer and nut.

Figure 7.3 Mounting of Suspension Bolts

30



7.4 Installation

7.4.1 Changing the Location of the Electrical Box

Depending on the installation space, changing the location of the electrical box is available.
When changing the location of the electrical box, follow the procedures below:

(1) Remove the service cover for the electrical box.

(2) Remove the service cover for the electronic expansion valve.

(3) Remove the electrical box.

(4) Remove the wiring from the wire clip and edge saddle, and move the electrical box.
After moving the electrical box, put the wiring into the edge saddle and bound with the wire clip.
(Refer to “Enlarged View of A” below.)

(5) Mount the electrical box.
(6) Rotate the service cover for the electronic expansion valve 180 degrees and mount it.
(7) Mount the service cover for the electrical box.

Service Cover for
Electronic Expansion Valve

Service Cover for
Electrical Box /

Enlarged View of A . o,
Edge Saddle Wire Clip

Wire Cli
Edge Saddle re ~1p /
\ / Electrical Box

Electrical Box ‘\
Edge Saddle /

Edge Saddle
(Before Change) 9 (After Change)

* Make sure that the wiring is bound with the wire clips

in order to prevent the electrical box from entering
water.

31



7.4.2 Marking of the Positions of the Suspension
Bolts and Wiring Connections

(1) Mark the positions of the suspension bolts,
refrigerant piping connections and wiring
connection.

(2) Installation dimensions are shown in
"Dimensional Data".

Mounting and Hanging the Switch Box

(1) Place nuts and washers onto the suspension
bolts before installing the Switch Box.

NOTE:

Make sure to use washers for installing the
suspension bolts to the suspension brackets.
Install the washer with the insulation side
facing down for suspended installation
applications. This way, the washers
themselves remain in position on the
suspension bolts during the installation
phase.

Field-Supplied Parts
Single Branch Switch Box(HCHS-N06/10XA)

* Suspension Bolt: 2-M10 or W3/8
* Nut: 6-M10 or W3/8
* Washer: 4-M10 or W3/8

Multi Branch Switch Box(HCHM-N(04-16)XA)

* Suspension Bolt: 4-M10 or W3/8

* Nut: 12-M10 or W3/8
8-M10 or W3/8

* Washer:

Suspension Bolt (M10 or W3/8)
(Field-Supplied)

Nut (Field-Supplied)

(1-3/16 to

* Washer (Field-Supplied) 11-15/16 inch)
Suspension Bracket
(Equipped with Switch
Box)

* Washer (Field-Supplied)

Double-Nut (Field-Supplied) EHI:

Switch Box

Figure 7.4 Suspension

30 to 50mm

(2) Hanging the Switch Box

(a) Hang the Switch Box by putting hands on
the bottom of the cabinet.

(b) Insert the suspension bolt into the groove
part of the suspension bracket as shown
in Figure 7.5. Ensure that the washers
are correctly affixed to the suspension
bracket.

(c) After the hanging work, the piping and
wiring connection work is required inside
the ceiling in the gap between the roof and
ceiling so it is not visible. Therefore,
determine the drawing direction of the pipe
after selecting the installation location of
the Switch Box. Before doing the hanging
work, carry out the piping and wiring work
up to the connecting positions.

(d) Keep the Switch Box level to the ceiling
surface. If the Switch Box is not level, a
malfunction may occur.

(e) Tighten the nuts of the suspension bolt
with the suspension bracket after
adjustment is completed.

Adhesive must be applied to the nuts in
order to prevent them from loosening.

Single Branch Switch Box(HCHS-N06/10XA)

Suspension Bolt

Upper Side

Suspension Bracket

Bottom Side

Multi Branch Switch Box(HCHM-N(04-16)XA)

Suspension Bolt

Figure 7.5 Hanging Method



8 Refrigerant Piping Work

m HCHS-N06/10XA
Provide the refrigerant pipe in the field.
Make sure that the refrigerant pipe is connected to the same refrigerant cycle unit.

(1) Position of Piping Connection
Service Cover for Unit: mm(inch)
376(14-13/16)

Control 214 Electronic Expansion Valve Electrical Box . .
Wiring Connection —(g.7/16) 38 301(11-7/8) 38 Gas Pipe Connection
(®22(7/8)) / Low Pressure A-112) (A-112) (A Flare Nut)

—

—|' Gas Pipe Connection =
prd e M ey e ] /5
< g Tf ($19.05(3/4) Flare Nut) 89 s Q . .
[ ol— N2
D~ o ® = ~
® < © Service Cover for ‘EE 2 N g
o7 \__Electrical Box = ~ - e
el @ = == i
o= z
N2 High/Low Pressure 82 ‘ 301(11-7/8) B S
bl % Gas Pipe Connection ‘ rel 111
: 54 |(1-7/g)~—235 T1P€ LONNECUON — (3_1/4) Power Supply Q
<40 (2-18) ($15.88(5/8) Flare Nut) Wiring Connection. (4-3/8)
. (©22(718))
5 12/116 63(2-112) o - Indoor Unit Connecting Side
imension A B

Model
HCHS-NO6XA 15.88(5/8) 89(3-1/2)

Outdoor Unit Connecting Side

HCHS-N10XA | 19.05(3/4) | 96(3-3/4)

(2) Selecting Piping Size
(a) Select the size for the high/low pressure gas pipe, low pressure gas pipe and gas pipe according
to the table 8.1. The size depends on the indoor unit total capacity connected downstream of the

Switch Box .
(b) In case that the piping size from Table 8.1 and the piping connection size for Switch Box from Table

8.2 are different, use an accessory pipe according to the item 8.2(3).
(c) As for the BRANCH PIPE branch or header branch, refer to Technical Catalog for Outdoor Unit.

Table 8.1 Connected Indoor Unit Capacity and Piping Size Unit: mm(inch)

Connected Indoor Low Pressure High/Low _
- - P
Model Unit Capacity Gas Pipe Pressure Gas Pipe Gas Pipe
1.5HP or | 4.3kW or | *
14KBtu/h gr Igi:)§1.22RToorT::i) $15.88(5/8) $12.7(1/2) $12.7(1/2)
HCHS-NO6XA 1.5t0 4.0HP (4.3 to 11.2KW
(110 3By 2210 2 00m | 915-88(5/8) $12.7(1/2) $15.88(5/8)
4.0 to 6.0HP(11.2 to 16kW
(38 t(;o54kB‘lu/(h)(3.1tgt0 4.77)RT) ¢1 905(3/4) ¢1588(5/8) ¢1588(5/8)
6.0 to 8.0HP(16 to 22.4kW'
(5410 TKBM (.77 10 6RT) $19.05(3/4) $15.88(5/8) $19.05(3/4)
HCHS-N10XA
iz 1 10 28K $22.2(7/8) $19.05(3/4) $22.2(7/8)

(76 to 96kBtu/h)(6 to 8RT)

*: In case that a branch is located downstream of the Switch Box and also the connected indoor unit capacity is
1.5HP (4.3kW,14kBtu/h, 1.22RT)or less, use ¢$15.88 for the gas pipe.

Table 8.2 Piping Connection Size for Switch Box Unit: mm(inch)

Low Pressure High/Low Gas Pi
Model ) Pressure Gas Pipe as ripe
Gas Pipe
HCHS-NO6XA $19.05(3/4) $15.88(5/8) $15.88(5/8)
HCHS-N10XA $19.05(3/4) $15.88(5/8) $19.05(3/4)
Upstream Downstream
BRANCH PIPE
Low Pressure
w‘ Gas Pipe
Switch Box
High/Low Pressure
Gas Pipe Indoor | Indoor |
Unit Unit

33



e Piping Work for Switch Box
Refrigerant piping size depends on the combinations with the outdoor unit. Refer to the installation and
maintenance manual for the outdoor unit. Perform piping work for the Switch Box according to the
following figure.

Qutdoor Unit
. 3 Pipes (High/Low Pressure Gas Pipe, Low Pressure Gas Pipe and Liquid Pipe)
. 2 Pipes (Gas Pipe and Liquid Pipe)
L2
T T T T T I ~
/ Switch Box T \\\
K N |H4 |
-~ N s = _'_\i ________ t |
BRANCH PIPE/ L3 | | Switch Box ' !
i H5 Switch Box : L3 |a b d | H5
H5 ! <— i
e !
| ' ¢ L i
| 1
Indoor Unit i H3 |
or Water Module Indoor Unit Indoor Unit Indoor Unit !
or Water Module
Indoor Unit
Allowable Piping
ltem Mark Length
Maximum Piping Length between BRANCH PIPE of 1st 1
Branch and Terminal Indoor Unit L2 < 90m (295 1t)
- Maximum Piping Length between Each BRANCH 2
Egg?h PIPE and Each Indoor Unit L3 < 40m (131 ft)
In Case there is Branch after Switch Box,
Total Piping Length from Switch Box to a+b+ct+d+e <40m (131 ft)
Each Connected Indoor Unit per Branch
In Case there is Branch after Switch Box ,
Height Difference between Indoor Units Connected H3 <4m (13 ft)
Height to Same Connection Port of Switch Box
Difference | Height Difference between Switch Boxes H4 < 15m (49 ft)
Height Difference between Switch Box and Indoor Unit H5 Refer to NOTE 3.
NOTES:

1. When the piping length from the first branch to the terminal indoor unit exceeds 40m (131 ft), there are
restrictions. Refer to the installation and maintenance manual for the outdoor unit.

2. If the piping length (L3) between each BRANCH PIPE and indoor unit is considerably longer than other indoor
unit, refrigerant may not flow well, and may lessen the unit’'s performance compared to other
models. (Recommended Piping Length: Within 15m (49 ft))

3. Recommended height difference between Switch Box and indoor unit is within 15m (49 ft).
If the height difference exceed this value, it may cause a decrease of operating performance.

4. Each Water Module must occupy one branch of Switch Box exclusively.

34



(3) Piping Connection

Perform the piping connection according to Table 8.1.

Unit: mm (inch)

Connected Indoor
Unit Capacity: Q

HCHS-NO6XA

Q <6.3kW
(Q < 22kBtu/h)
(Q < 1.79RT)

(1) Reducer

Low Pressure Gas Pipe
(Field-Supplied) (¢15.88(5/8)) =

High/Low Pressure Gas Pipe =
(Field-Supplied) (¢12.7(1/2))

(3) Accessory Pipe

:](Cut the expanded part of the pipe end.)
(nsl Switch Box

=

CH | (Upper Surface)
(2) Accessory Pipe

(2) Accessory Pipe1

— Gas Pipe
(Field-Supplied)
(912.7(1/2))

6.3 <Q < 16.0kW
(22 < Q < 54kBtu/h)
(1.79< Q < 4.77RT)

(1) Reducer

Low Pressure Gas Pipe
(Field-Supplied) (¢15.88(5/8)) ,—

High/Low Pressure Gas Pipe =

(Field-Supplied) (¢12.7(1/2))

(3) Accessory Pipe

(2) Accessory Pipe

(Cut the expanded part of the pipe end.)
% ; ] Field Flaring Work
e Switch Box
CH | (Upper Surface) = Gas Pipe

*

(Field-Supplied)
(915.88(5/8))

Q = 16.0kW
(Q = 54kBtu/h)
(Q = 4.77RT)

Low Pressure Gas Pipe
(Field-Supplied) (¢19.05(3/4)) =

High/Low Pressure Gas Pipe
(Field-Supplied) ($15.88(5/8))

D_—Z'% Switch Box

(3) Accessory Pipe

|
2| (Upper Surface)

*2
Field Flaring Work

| B

*2
Field Flaring Work

Gas Pipe
(Field-Supplied)
(915.88(5/8))

Unit: mm (inch)

Connected Indoor
Unit Capacity: Q

HCHS-N10XA

16.0 < Q < 25.2kW
(54 < Q < 86kBtu/h)
(4.77< Q <7.16RT)

Low Pressure Gas Pipe
(Field-Supplied) (¢19.05(3/4)) =

High/Low Pressure Gas Pipe
(Field-Supplied) ($15.88(5/8))

(2) Accessory Pipe

] Switch Box
CH_| (Upper Surface)

L HY

*2
Field Flaring Work

(2) Accessory Pipe

2 Gas Pipe
(Field-Supplied)
($19.05(3/4))

25.2 < Q < 28.0kW
(86 < Q < 96kBtu/h)
(7.16< Q <8RT)

Low Pressure Gas Pipe
(Field-Supplied) (¢22'2(7/8))8:|

High/Low Pressure Gas Pipe =
(Field-Supplied) (¢19.05(3/4))

| (Upper Surface)
(4) Accessory Pipe

(2) Accessory Pipe

2l Switch Box

n)

(2) Accessory Pipe

2 Gas Pipe
(Field-Supplied)
(922.2(7/8))

*1:

Refer to the installation and maintenance manual for the outdoor unit for the following piping size.

* Upstream piping of Switch Box

+ Downstream piping of Switch Box when the branch is located downstream of Switch Box.

*2: Refer to Section 8.1 for the flaring work.

NOTE:
The accessory numbers are listed in Table 7.1.

35



(4) Piping Insulation

Unit: mm(inch)

(9) Insulation
(ID 43(1-11/16)) (10) Clamp
(6) Insulation __ (8) Insulation
(ID 20(13/16)) ' /(ID 38(1-112))
Switch Box
HCHS-NO6XA (Upper Surface)
5) Insulation
(ID 16(5/8)) )
. (5) Insulation
8) Insulation (10) Clamp
(ID 38(1-1/2)) (ID 16(5/8))
9) Insulation
(ID 43(1-11/16)) (10) Clamp
7) Insulation
(ID 22(7/8)) (9) Insulation
Switch Box (ID 43(1-11/16))
HCHS-N10XA (Upper Surface)
(5) Insulation
(ID 16(5/8)) )
(8) Insulation (10) Clamp ZIDIZSZL;?/%()))[]
(ID 38(1-1/2))
NOTES:

1. The accessory numbers are listed in Table 7.1.

2. When the humidity inside the ceiling is high, apply additional insulation to the flare nut connection.

36




m HCHM-N(04-16)XA

Provide the refrigerant pipe

in the field.

Make sure that the refrigerant pipe is connected to the same refrigerant cycle unit.

(1) Position of Piping Co

nnection

@

Unit: mm (inch)

260
(10-1/4)
© 198 Refri t Liquid Pi
© efrigerant Liquid Pipe —~
s 5 ﬂ_(; 3/18) Connection for Outdoor Unit §
D = Q=
% qz 1\ S5d) (ID. D) ﬁ B
o E N ] oo o
L oo e i e Je
@ = A 2= 4@
o o ® 5 g ] L =~ g\./
. 51 S Ain
b 8 3 3 g
‘* \\ - T} Refrigerant Gas (Low Pressure)
Pipe Connection for Outdoor Unit
; © Refrigerant Gas (High/Low Pressure) il 42 (1.D. $C)
Electrical Box BTﬁ // Pipe Connection for Outdoor Unit (1-5/8) i
= (.D. 0B) 60
A (2-3/8)
156
(6-1/8)
Dimension
A B C D
Model
HCHM-NO4XA 303 (11-15/16) | 22.2 (7/8) 25.4 (1) 12.7 (1/2)
HCHM-NO8XA 543 (21-3/8) 22.2 (7/8) 28.6 (1/1/8) | 12.7 (1/2)
HCHM-N12XA 783 (30-13/16) | 25.4 (1) 28.6 (1/1/8) | 15.88 (5/8)
HCHM-N16XA | 1023 (40-9/32) | 28.6 (1-1/8) | 31.75 (1-1/4) | 19.05 (3/4)
*
View of Indoor Unit Connecting Side @
HCHM-NO4XA HCHM-N12XA
Refrigerant Gas Pipe Connection Refrigerant Gas Pipe Connection
for Indoor Unit . o for Indoor Unit .
(4 x $15.8 (5/8) Flare Nut) N T ol (12 x $15.8 (5/8) Flare Nut) ©
© @ = 8 (?
° : : ) 8 = Ref Liquid P C 8 g
. 20 efrigerant Liquid Pipe -
Refrigergnt Liquid Pipe . D:dﬁi ¢ B A < Connection for Indoor Unit D:'EC <
Connection for Indoor Unit 60 (12 x $9.52 (3/8) Flare Nut)
(4 X ¢9.52 (3/8) Flare Nut) (2-3/8) (2-3/8)
60 x 11 = 660 67
60 x3 =180 67 -
(2-3/8x 3 = 7-1116) (2-5/8) (2-3/8 x 11 = 26) (2-5/8)
| HeHw-NosxA | [ Hormntexa |
Refrigerant Gas Pipe Connection Refrigerant Gas Pipe Connection
for Indoor Unit = for Indoor Unit
(8 x $15.8 (5/8) Flare Nut) - . > (16 x ¢15.8 (5/8) Flare Nut) ©
o . o 8 QI‘, e T o 2
s o
’ En- kg Je —{| 0000000000000 15
[ pgepeoge0-0 “2 g 010-0-0-0-0-0:0-0r0-3-0-0u0-0 T | 5 7
Refrigerant Liquid Pipe M G F EID C Al ¥ AN 1 e 2 A o ] b ©
Connection for Indoor Unit 60 Refrigerant Liquid Pipe 60
(8 x $9.52 (3/8) Flare Nut) 2-378) Connection for Indoor Unit (2-3/8)
60 x 7 = 420 67 (16 x $9.52 (3/8) Flare Nut) 60 x 15 = 900 67
(2-3/8 x 7 = 16-9/16) (2-5/8) (2-3/8 x 15 = 35-7/16) (2-5/8)

37



(2) Piping Work for Switch Box
Refrigerant piping size depends on the combinations with the outdoor unit. Refer to the installation
and maintenance manual for the outdoor unit. Perform piping work for the Switch Box according to
the following figure.

Outdoor Unit

. 3 Pipes (High/Low Pressure Gas Pipe, Low Pressure Gas Pipe and Liquid Pipe)

. 2 Pipes (Gas Pipe and Liquid Pipe)

L2 i
/ ISwitch Boxi ?
N H4 |
o = P — s
I witch Box <— H
BRANCH PIPE H5 | ] |Switch Box H a c e !LHS!
. P [TTTHL3a | | [ A
[
| | | | Indoor Unit Indoor Unit Indoor Unit g;,
Indoor Unit Indoor Unit Indoor Unit
or Water Module or Water Module ~ Indoor Unit
or Water Module
Allowable Piping
ltem Mark Length
Maximum Piping Length between BRANCH PIPE of 1st 1
Branch and Terminal Indoor Unit . < 90m (295 ft)
Piping Maximum Piping Length between Switch Box and Indoor Unit L3a, a+b+d, < 40m (131 ft) 2
Length a+b+e or a+c
In Case there is Branch after Switch Box, Total Piping
Length from Switch Box to Each Connected Indoor atb+c+d+e <40m (131 ft)
Unit per Branch
In Case there is Branch after Switch Box ,
Height Difference between Indoor Units Connected to H3 <4m (13 ft)
Same Connection Port of Switch Box
Height
Difference | Height Difference between Switch Boxes H4 <15m (49 ft)
Height Difference between Switch Box
and Indoor Unit H5 Refer to NOTE 3.
NOTES:

1. When the piping length from the first branch to the terminal indoor unit exceeds 40m (131 ft), there

are restrictions.Refer to the installation and maintenance manual for the outdoor unit.

2. If the piping length (L3a) between each Switch Box and indoor unit is considerably longer than other
indoor unit, refrigerant may not flow well, and may lessen the unit’'s performance compared to other
models.(Recommended Piping Length: Within 15m (49 ft))

3. When the height difference between Switch Box and indoor unit is long, the performance may
decrease.(Recommended Piping Length: Within 15m (49 ft))

4. Each Water Module must occupy one branch of Switch Box exclusively.

38



(3) Selecting Piping Size

e Select the size for the high/low pressure gas pipe,
low pressure gas pipe and liquid pipe according

(a) Outdoor Unit Connecting Side
A \

High/Low Pressure

to Table 8.3. The size depends on the indoor Gas Pipe (8)

unit total capacity connected downstream of the

Switch Box.

(Field-Supplied) ; I_AE
Low Pressure I]:|
Gas Pipe (A)

® As for the BRANCH PIPE branch or header branch,
refer to the Technical Catalog for the Outdoor Unit.

(Field-Supplied)
e Perform the piping connection work for the Switch Liquid Pipe (C) 51
Box as shown below. (Field-Supplied) ) ﬁ
Gas Pipe (D) ﬁ
(Field-Supplied)
Liquid Pipe (E
(Field-Supplied)

(a) Outdoor Unit Side Field Piping Size

(b) Indoor Unit Connecting Side

Table 8.3 Outdoor Unit Side Field Piping Size

Low Pressure
Connected

High/Low Pressure

Liquid Pipe (C)

. o Gas Pipe (A) Gas Pipe (B)
Indoor Unit Capacity: Q mm (inch) mm (inch) mm (inch)
Q < 16.0kW
(Q<54kBtu/h) 15.88 (5/8 12.7 (12 9.52 (3/8
(Q<4.77RT) ¢ (5/8) $12.7 (1/2) $9.52 (3/8)
16.0 < Q < 25.2kW
(54= Q < 86kBtu/h) $19.05 (3/4) $15.88 (5/8) $9.52 (3/8)
(4.77 <Q < 7.16RT)
25.2 < Q < 33.5kW
(86 = Q < 114kBtu/h) $22.2 (7/8) $19.05 (3/4) $9.52 (3/8)
(7.16 < Q < 9.52RT)
33.5 < Q < 44.8kW
(114 = Q < 154kBtu/h) 25.4 (1 22.2 (7/8 12.7 (12
(9.52 < Q < 12.73RT) $254 (1) $22.2 (718) $127(172)
44.8 < Q < 50.0kW
(154=< Q < 172kBtu/h) $28.58 (1-1/8) $22.2 (7/8) $12.7 (1/2)
(12.73 < Q < 14.20RT)
50.0 < Q < 61.5kW
(172< Q < 210kBtu/h) $28.58 (1-1/8) $22.2 (7/8) $15.88 (5/8)
(14.20 < Q < 17.47RT)
61.5 < Q < 73.0kW
(210= Q < 250kBtu/h) $28.58 (1-1/8) $25.4 (1) $15.88 (5/8)

(17.47 < Q < 20.74RT)

73.0 < Q < 85.0kW
(250< Q < 290kBtu/h)
(20.74 < Q < 24.14RT)

$31.75 (1-1/4)

$28.58 (1-1/8)

$19.05 (3/4)

NOTE:

Refer to “Position of Piping Connection” for the details of the piping connection for the
Switch Box. Use field-supplied reducer in case the field piping and Switch Box piping

connection does not match.

39



Details of changes to the piping size for connection to the Switch Box are shown below.

HCHM-NO4XA Unit: mm (inch)
Piping Connection | Required . .
Size for Switch Box | Pipe Size Field-Supplied Remarks
$19.05 0OD25.4 - ID19.05 | Apply Field-Supplied Reducer
(3/4) (1) (3/4) (2 Size Down)
$22.2 OD25.4 1D22.2 o .
Low Pressure 0254 (718) (1) — (7/8) Apply Field-Supplied Reducer
Gas Pipe (A) (1) $25.4 ) )
(1)
$28.58 OD25.4 ID28.58 . .
(1-1/8) (1) — (1-1/8) Apply Field-Supplied Reducer
$12.7 0OD22.2 _, 1D12.7 | Apply Field-Supplied Reducer
(1/2) (7/8) (1/2) (3 Size Down)
High/Low $15.88 0D22.2 N ID15.88 | Apply Field-Supplied Reducer
$22.2 (5/8) (7/8) (5/8) (2 Size Down)
Pressure
. (7/8) $19.05 0D22.2 ID19.05 . .
Gas Pipe (B) (3/4) (718) — (3/4) Apply Field-Supplied Reducer
$22.2 ) )
(7/8)
$9.52 OoD12.7 N 1D9.52 o .
Liquid Pipe (©) 0127 (3/8) (1/2) (3/8) Apply Field-Supplied Reducer
(172) $12.7
(1/2) ) )
HCHM-NO8XA Unit: mm (inch)
Piping Connection Required . .
Size for Switch Box | Pipe Size Field-Supplied Remarks
$19.05 0D28.58 N ID19.05 | Apply Field-Supplied Reducer
(3/4) (1-1/8) (3/4) (3 Size Down)
$22.2 0D28.58 N ID22.2 | Apply Field-Supplied Reducer
(7/8) (1-1/8) (7/8) (2 Size Down)
Low Pressure $28.58 $25.4 0D28.58 ID25.4 . .
Gas Pipe (A) (1-1/8) ) (1-1/8) — (1) Apply Field-Supplied Reducer
$28.58 } )
(1-1/8)
$34.93 0D28.58 _, 1D34.93 o .
(1-3/8) (1-1/8) (1-3/8) Apply Field-Supplied Reducer
$15.88 0D22.2 N ID15.88 | Apply Field-Supplied Reducer
(5/8) (7/8) (5/8) (2 Size Down)
$19.05 0D22.2 . ID19.05 i .
. (3/4) (7/8) (3/4) Apply Field-Supplied Reducer
High/Low 622.2 022.2
Ty | e | o - -
0254 | OD222 D254 | »o Field-Supplied Reducer
(1) (7/8) (1 |"PPY PP
$28.58 0D22.2 N ID28.58 | Apply Field-Supplied Reducer
(1-1/8) (718) (1-1/8) | (2 Size Up)
$9.52 oD12.7 1D9.52 o .
(3/8) (112) — (3/8) Apply Field-Supplied Reducer
$12.7 ) )
o $12.7 (1/2)
Haua e (©) (12) ¢1588 | OD12.7_ ID15.88 | \\01y Field-Supplied Reducer
(5/8) (1/2) (5/8) PPy pp
$19.05 oD12.7 N ID19.05 | Apply Field-Supplied Reducer
(3/4) (1/2) (3/4) (2 Size Up)

40



HCHM-N12XA

Unit: mm (inch)

Piping Connection | Required . .
Size for Switch Box | Pipe Size Field-Supplied Remarks
$22.2 0D28.58 _, 1D22.2 | Apply Field-Supplied Reducer
(7/8) (1-1/8) (7/8) (2 Size Down)
$25.4 0D28.58 ID25.4 i .
Low Pressure $28.58 (1) (1-1/8) 1) Apply Field-Supplied Reducer
Gas Pipe (A) (1-1/8) $28.58 ) _
(1-1/8)
$34.93 0D28.58 . ID34.93 o .
(1-3/8) (1-1/8) (1-3/8) Apply Field-Supplied Reducer
$19.05 0OD25.4 ID19.05 | Apply Field-Supplied Reducer
(3/4) (1) (3/4) (2 Size Down)
High/Low $25.4 42?/28)2 0312)5'4 — ”(372/§)2 Apply Field-Supplied Reducer
Pressure (1)' 554
Gas Pipe (B) ¢ o ; )
?12%2/%? OD(12)5'4 — |32$/g)8 Apply Field-Supplied Reducer
$9.52 0OD15.88 N 1D9.52 | Apply Field-Supplied Reducer
(3/8) (5/8) (3/8) (2 Size Down)
¢12.7 OD15.88 ID12.7 Apply Field-Supplied Reducer
Liquid Pi $15.88 (1/2) (5/8) (1/2)
iquid Pipe (C) (5/8) $15.88
(5/8) ] ]
$19.05 0OD15.88 _, 1D19.05 i .
(3/4) (5/8) (3/4) Apply Field-Supplied Reducer
HCHM-N16XA Unit: mm (inch)
Piping Connection | Required . ;
Size for Switch Box | Pipe Size Field-Supplied Remarks
$22.2 OD31.75 ID22.2 | Apply Field-Supplied Reducer
(7/8) (1-1/4) (7/8) (3 Size Down)
$25.4 OD31.75 N ID25.4 | Apply Field-Supplied Reducer
Low Pressure $31.75 (1) (1-1/4) (1) (2 Size Down)
Gas Pipe (A 1-1/4 28.58 OD31.75 ID28.58 . .
pe (A) ( ) ?1_1/8) (1-1/4) — (1-1/8) Apply Field-Supplied Reducer
$31.75 ) )
(1-1/4)
$19.05 0D28.58 N ID19.05 | Apply Field-Supplied Reducer
(3/4) (1-1/8) (3/4) (3 Size Down)
High/L $22.2 0D28.58 1D22.2 | Apply Field-Supplied Reducer
P'rgssu?‘g $28.58 (7/8) (1-1/8) (7/8) | (2 Size Down)
. (1-1/8) $25.4 0D28.58 ID25.4 . .
Gas Pipe (B) 1) (1-1/8) — 1) Apply Field-Supplied Reducer
$28.58 ) )
(1-1/8)
99.52 0D19.05 1D9.52 | Apply Field-Supplied Reducer
(3/8) (3/4) (3/8) (3 Size Down)
$12.7 0OD19.05 _, ID12.7 | Apply Field-Supplied Reducer
o $19.05 (1/2) (3/4) (1/2) (2 Size Down)
Hauaee © (3/4) ¢1588 | 0D19.05_~ ID15.88 | \y01y Field-Supplied Reducer
(5/8) (3/4) (5/8) pply PP
$19.05 ) )
(3/4)

41




(b) Indoor Unit Side Field Piping Size

e When a branch is located downstream of the Switch Box

Conrfgéii't;??g; Unit | Gas Pipe (D) | Liquid Pipe (E)
mm (inch) mm (inch)

Q < 16.0kW
(Q < 54kBtu/h) $15.88 (5/8) " | ¢9.52(3/8)
(Q <4.77RT)
Q = 16.0kW
(Q = 54kBtu/h) $19.05 (3/4) $9.52 (3/8) '
(Q = 4.77RT)

1. Field flarin work is required. Refer to Section 8.3 for the flaring work.
e When a branch is not located downstream of the Switch Box

Conrzf:;ii't;?‘(’é’; Unit Gas Pipe (0) | Liquid Pipe (E) N
inch (mm) inch (mm)

1.2<Q<6.3kW Use accessory pipe (1) on gas pipe side
(4= Q < 22kBtu/h) 012.7 (1/2) $6.35 (1/4) and accessory pipe (2) on liquid pipe side to
(0.34=Q = 1.79RT) decrease the pipe size.

7.1<Q<16.0kW

(24< Q < 54kBtuh) | $15.88 (5/8)" $9.52 (3/8) -

(2.02< Q < 4.77RT)

Q = 22.4kW ) ) .

(Q = 76kBtu/h) $19.05 (3/4) $9.52 (3/8) " _Use accessory pipe (3) on gas pipe side to
(Q =6RT) increase the pipe size.

Q = 28.0kW Use accessory pipe (4) on i ide t
(Q = 96kBtu/h) $22.2 (7/8) $9.52 (3/8) " |. "y pipe (4) on gas pipe side to
(Q = 8RT) increase the pipe size.

1. Field flarin work is required. Refer to Section 8.3 for the flaring work.

NOTES:

1. When connecting the Gas Pipe (D) and Liquid Pipe (E), reuse the flare nut attached to the Switch
Box.

2. When the connected indoor unit capacity is 1.2~6.3kW(4~22kBtu/h, 0.34~1.79RT) and the piping
length exceeds 15m (49ft.), use 9.52mm (3/8 inch) for the liquid pipe.

NOTICE

In case the piping connection is not used for the indoor unit side piping connection, it must be
sealed using the closed flare nut originally attached. These flare nuts have been tightened by
torque specifications shown below before shipping. Ensure that they are sealed completely.

42



e Tightening Torque for Flare Nut before shipping

Item Tightening Torque

Gas Pipe Flare Nut

75+7 Nem (55.3+5 ft-Ibs)

Liquid Pipe Flare Nut

38+4 N'm (28.0+3 ft-Ibs)

NOTICE

1. In case of 8HP (22.4kW, 72kBtu/h, 6RT) and 10HP (28kW, 96kBtu/h, 8RT) type indoor unit

connection: Up to two 8HP (22.4kW, 72kBtu/h, 6RT) and 10HP (28kW, 96kBtu/h, 8RT) type indoor
units can be connected to the Switch Box within the “Maximum Total Capacity of All Connected
Indoor Units”. Make sure to increase the pipe connection size by using the appropriate accessory

pipe.

. In case of 8HP (22.4kW, 72kBtu/h, 6RT) and 10HP (28kW, 96kBtu/h, 8RT) type indoor unit
connection: Only single unit per branch is allowed to be connected.
. In case the number of indoor unit connection is less and the piping connections are left over:

e Unused piping connections must be sealed using the

closed flare nut originally attached.
It is unnecessary to attach closed-end piping.

==

Refrigerant leakage is caused by loosened flare nuts.

Ensure that they are sealed completely.

Use specified tightening torque according to the table

“Tightening Torque for Flare Nut before shipping”
above.
e Any piping connections can be left over.

. In case there is plan for additional indoor units in the
future:
e Do not plan the piping size for additional indoor

units. Ensure to select the piping again in the future.

e Additional indoor units can be connected only after

the refrigerant is recovered.

Switch Box
(==
t Example;
Use three In case one of the

connection ports.

piping connection is
unused, ensure the
closed flare nut originally
attached is secured.
(For gas and liquid sides)

Above figure illustrate the example of HCHM-NO4XA.

(4) Piping Insulation

(a) After the air-tight leakage test, perform insulation work as shown below.

Upstream (Outdoor Unit Side)

Insulation

Clamp (Two each)

(Field-Supplied)

(Field-Supplied)

High/Low Pressure Gas Pipe
Low Pressure Gas Pipe

(Accessory)

A Switch Box
Liquid Pipe N
Insulation “ Insulation ]

(Field-Supplied)

(Accessory)
Clamp (Accessory

Insulation

(Field-Supplied)

43

)
Gas Pipe

Insulation

Insulation
(Field-Supplied)

~_ Liquid Pipe

Downstream (Indoor Unit Side)



(b) Insulate gas and liquid pipe separately using the accessory insulation material.
In the event that temperature and humidity levels inside the ceiling exceed 30°C (86°F)/RH, relative
humidity 80%, apply additional insulation materials (approximately 10mm (3/8 inch) thickness) to the
surface of the accessory insulation material to avoid condensation.

(c) Perform cold insulation work by insulating and taping the flare connection and reducer connection.

Also insulate all the refrigerant pipes.

Check that there are no gaps between the
Switch Box and the insulation.

Apply by making

contact to the piping. | Insulation Material

(Attached to the Switch Box)

Insulation

(Field-Supplied)\

L 2z

Switch Box Side

> INARRINY
Z 14
Insulation
(Field-Supplied)

Securely fasten cable clamps
and the vinyl tape.

Insulation Work for Gas (High/Low Pressure and Low Pressure)
Pipe of Outdoor Unit Side

Switch Box Side

Check there are no gaps between insulation materials.
If the gaps are occurs, seal the gap with vinyl tape.

Insulation Material
(Attached to the Switch Box)

Insulation
(Accessory (6))

“| - j:‘{;@/ _;8‘

VTR,

Insulation Material
(Attached to the Switch Box)

Insulation
Clamp (Field-Supplied)
(Accessory (7))

Securely fasten.

Insulation Work for Gas Pipe of Indoor Unit Side

Check that there are no gaps
between the Switch Box and the

insulation.

Apply by making
contact to the piping.

Insulation Material
(Attached to the Switch Box)

Insulation
(Field-Supplied)

Switch Box Side

Insulation
(Field-Supplied)

Securely fasten cable clamps
and the vinyl tape.

Insulation Work for Liquid Pipe of Outdoor Unit Side

Check that there are no gaps between
the Switch Box and the insulation.

Insulation Material
(Attached to the Switch Box)

Insulation
(Accessory (5))

Switch Box Side

Insulation
(Field-Supplied)

Securely fasten.

Insulation Work for Liquid Pipe of Indoor Unit Side

(Accessory (7))

(d) In case there are unused piping connection, ensure
to apply accessory insulation material to the piping

and flare connections without gaps as shown on

the right figure (For gas and liquid sides)

44

Insulation
(Accessory (5), (6))

WY / Insulate without gaps.

%EVIIIIAIEE@}\\\\\\\\%\\\
I -

EA

Securely fasten.

(Accessory (7))



9. Test Run

NOTICE

Refrigerant piping and connecting wires should be connected to the same refrigeration
cycle system. If they are connected to the dissimilar refrigeration cycle systems, a
malfunction may occur.

e Special Attention Regarding Refrigerant Gas Leakage

The refrigerant R410A is non-toxic and inflammable in its original state.

However, in consideration of a state where the refrigerant leaks into the room, measures against
refrigerant leaks must be taken in small rooms where the tolerable level could be exceeded.
Take countermeasures by installing ventilation devices,etc.

< Calculation of Refrigerant Concentration >

(1) Calculate the total quantity of refrigerant R (kg) charged in the system connecting all the indoor units
of rooms to be air-conditioned.

(2) Calculate the room Volume V (m®) of each room.
(3) Calculate the refrigerant concentration C (kg/m®) of the room according to the following equation.

R: Total Quantity of Charged Refrigerant (kg)
V: Room Volume (m®)

= C: Refrigerant Concentration
< 0.42 (kg/m®) for R410A

250
[T 11 X
Range below the
200 density /
R limit of 0.42kg/m?3 4
”E (Countermeasures /
-~ Not Needed)
2 150 /
3
S /
c / Range above the limit of
8 100 0.42kg/m?® i —
14 / (Countermeasures Needed)
T 50

0O 10 20 30 40 50 60 70 80 90 100 110 120 130 140 150

—>> Total Quantity Charged of Refrigerant (kg)

Perform a test run according to the “Installation and Maintenance Manual” of the outdoor unit.

e Do not operate the system until all the check points are cleared.

(A) Check to ensure that the electrical resistance is more than 1 megohm by measuring the
resistance between ground and the terminal block in the electrical box. If not, do not operate
the system until the electric leakage is located and repaired.

(B) Check to ensure that the stop valves of the outdoor unit are fully opened, and then start the
system.

(C) Apply power to the outdoor unit(s) at least 12 hours prior to operation of the system for
preheating of the compressor oil.

e Pay attention to the following items while the system is running.

(A) Do not touch any of the parts by hand at the discharge gas side, since the compressor
chamber and the pipes at the discharge side are heated higher than 90°C (194°F).




10. Alarm code

PCB1 of single branch type Switch Box

O O
DML
SEG1
DSW1 Lm] DSW2 @PSWI E_
“ "SWZ TRI O
DSW3 []II] D5W4 @P@W?
DSW5 Lm] DSW6
O
DSH8
DSW7
M
B
» TB2
N
HHE®
|
O @) O
PCB1-3 of multiple branch type Switch Box
PO PN DSA
Yy ar O °
_ _ DL
T -
B SEG1

D

I @)

£N)

N
O 0000000 0000000 ©cooo0000
TIND CIND 2 IND 7INO

|

7AJ

N

5 FFFE

9N

=B

BIE \@@@@H@@ gl

O

(N7 (N8

©)

46



Check Mode

Press PSW2 in normal mode for more than 3 seconds to enter check mode. Data of each item displays Interactively in

check mode. Press PSW2 for "forward" and PSW3 for "backward".

MVS1
o
J

PSW2 v A PSW3

Opening of MVS1

Enter check mode —»

7 )
)

psw2 W A Psws

MVS2

-

o
arc

psw2 W A PSW3

Opening of MVS2

‘i
oo

MVD6

e

oo

pswz W A PSW3
Opening of MVD6 PSW3

PORT1

o 4 e

nu I

> L

psw2 W A PSWS

Indoor unit address

(]
1

PsSw2 v A PSW3

PORT1
[Each group displays 8 times)

,"
)

PSW2 v A PV

Indoor unit address

PORT6
Lb

PSW2 v A PSW3

Indoor unit address PSW3

Alarm record
o 4 P
(] _
> 77
PSw2  psw2 W A PSw3
Alarm code
‘na

o

psw2 W A Psws

Alarm record

T
i

psw2 W A Psws

Alarm code

)
/

Alarm record

nd

psw2 W A Psws

Alarm code

g
L

47



Indications by 7-segment display on Switch Box PCB:

Display Expansion valve Display content
Single branch type Multiple branch type
51 MVS1 MVS1
52 - MVS2
53 - MVS3 []0: Fuly close
0y - MVS4
5 5 R MVS5 H B . Fully Open
56 - MVS6
- : 8%(Bypass
g4 MVD1 MVD1 0B: s%@ypass)
dc - MVD2
d4 - MVD3
d4 - MVD4
d5 - MVD5
db - MVD6
PORT
Display Display content
Single branch type Multiple branch type
D_j PORT1 PORT1 HE . 36, an example of
D_E' - PORT2 indoor unit
03 - PORT3 address numbe!
— (from O to 63).
LH - PORT4
E’_E - PORT5 . no indoor unit
Lb - PORT6
Alarm record
Display l— Display content
Single branch type Multiple branch type
n
nc
nd
I'i"l Alarm codes refer to the
1—15 Alarm record n1 (latest) ~ Alarm record n9 (earliest) table below.

Alarm code

The alarm code is indicated by 7-segment display on Switch Box PCB:

Display %Ig;:\ Content of abnormality
BE] 03 Abnormal transmission between Switch Box and outdoor unit.
Abnormal transmission between Switch Box and indoor unit.
E1 C1 There are 2 or more Switch Boxs connected seriesly between the outdoor and indoor units
EE‘ There are 9 or more indoor units connected to one branch of Switch Box.
: c2 There are 37 or more indoor units connected to one Switch Box PCB.
Indoor units are dected when the port is set as no-using by DSW2 or DSW3 refer to
Eq ca | “Setting of DIP Switches" for the Switch Box HCHM-N04 ~16XA.
No-using for the port is not set when no indoor unit is detected in the port.

48




11. Servicing

11.1  Removing Components for Switch Box

TURN OFF all power source switches.

11.1.1 Removing Service Cover for Electrical Box and Electronic Expansion Valve
(1) Remove the screws securing the electrical box cover and the electronic expansion valve cover.

HCHS-NO6XA,HCHS-N10XA

Service Cover for Electrical Box: 2 screws

Service Cover for Electronic Expansion Valve: 2 screws
HCHM-NO4XA

Service Cover for Electrical Box: 2 screws

Service Cover for Electronic Expansion Valve: 3 screws
HCHM-NO8XA

Service Cover for Electrical Box: 3 screws

Service Cover for Electronic Expansion Valve: 3 screws
HCHM-N12XA

Service Cover for Electrical Box: 4 screws

Service Cover for Electronic Expansion Valve: 3 screws
HCHM-N16XA

Service Cover for Electrical Box: 4 screws

Service Cover for Electronic Expansion Valve: 3 screws

NOTE

When attaching / removing the service cover, take special
care to avoid injury from the sharp edges.

Tool Phillips Screwdriver

HCHS-NOG6XA,HCHS-N10XA

Service Cover for
Electronic Expansion Valve

v &»«—\

Electrical Box Cover

49



HCHM-NO04XA Service Cover for

Electronic Expansion Valve 2

Electrical Box Cover

HCHM-NO8XA Service Cover for

Electronic Expansion Valve

HCHM-N12XA Service Cover for

Electronic Expansion Valve

Electrical Box Cover

HCHM-N16XA Service Cover for

Electronic Expansion Valve /

Electrical Box Cover

50




TURN OFF all power source switches.

11.1.2 Removing Electrical Components
Removing Switch Box PCB
(1) Remove all the connectors for wiring connected to the Switch Box PCB.

(2) Remove the communication wirings connected to the Switch Box PCB. Do not touch the
electrical components on the Switch Box PCBs during the work. Otherwise, the Switch Box PCB
may be damaged.

(3) Hold the convex part of the holders securing the Switch Box PCB with a long nose pliers and
pull it out to remove.

Removing Electrical Components (Terminal Block for Power Source)
HCHS-NO6XA , HCHS-N10XA

(1) Remove all the wirings connected to the electrical components.

(2) Remove the screws securing the electrical components.

HCHM-N04XA, HCHM-NO8XA, HCHM-N12XA, HCHM-N16XA

(1) Remove all the wirings connected to the electrical components.

(2) Remove the communication wirings connected to the Terminal Block (TB2).
(3) Remove the screws securing the electrical components.

NOTE

When reassembling the electrical components, match the terminal numbers with the mark band
numbers and also match the colors of the connectors on the Switch Box PCB with the colors of the
connector for wiring. If they are incorrectly connected, malfunction may occur or the electrical
components may be damaged.

Tool Phillips Screwdriver,
Long Nose Pliers, Wire Cutter
HCHS-N04XA, HCHS-N10XA

Pinch here with long nose pliers

to remove the Switch box PCB.
4

T | ] Switch Box PCB Board Board Holder Board Holder Board Holder

QT/ Holder

Electrical Box
Electrical Box

Cross Section P-P

TB2

Outdoor Indoor
Communication Communication

Securing Screw (M4) for

. == © e
Securing Screws (M3.5) for ° @ | || it Terminal Block (TB1)
Wiring of Terminal Block (TB2) - @ i

O}

)®—='=&d
Board Holder

Board Holdér

Board Holder Board Holder

51




HCHM-NO4XA
Pinch here with long nose pliers
to remove the Switch box PCB.

Switch Box PCB Board
Holder

T

Electrical Box
Board Holders

Electrical Box
Cross Section P-P

Securing Screw (M4) for
Terminal Block (TB1)

w0k
gz
d|

e Board Holders

PEREIEEEE

o] \1 e

O ErmEmpies © PR
™

Securing Screw (M4) for
Terminal Block (TB2)

Securing Screws (M3.5) for
Wiring of Terminal Block (TB4)
Securing Screws (M3.5) for

Wiring of Terminal Block (TB3)

Board Holders

HCHM-NO8XA

Pinch here with long nose pliers
to remove the Switch box PCB.

Switch Box PCB Board
Holder

T

Electrical Box

Cross Section P-P

Board Holders

Board Holders

Electrical Box

©

Securing Screw (M3.5) for
Terminal Block (TB1)

Securing Screw (M3.5) fof|

Terminal Block (TB2)

for Wiring of
Terminal Block (TB3)

Securing Screws (M3.5, g

Securing Screws (M3.5)
for Wiring of
Terminal Block (TB4)

Securing Screws (M3.
for Wiring of
Terminal Block (TB3)

Securing Screws (M3.5)
for Wiring of
Terminal Block (TB4)

52



HCHM-N12XA

Pinch here with long nose pliers
to remove the Switch box PCB.

T Switch Box PCB Board
Holder

Electrical Bo!

Cross Section P-P

Securing Screw (M4) for Board Holders

Terminal Block (TB1)

Board Holders
Electrical Box

Board Holders

Securing Screw (M4) for
Terminal Block (TB2)

Securing
Screws (M3.5) for
Wiring of

Securing Screws (M4) for

Securing

Screws (M3.5) for
—Wiring of
Terminal Block (TB5)

Securing

Screws (M3.5) for
L~ Wiring of

Terminal Block (TB5)

Board
Holder

Terminal Block (TB4)

Wiring of Terminal Block (TB3)

Board Holders Securing
Screws (M3.5) for
Wiring of
Terminal Block (TB4)

Securing Screws (M4) for
Wiring of Terminal Block (TB3)

HCHM-N16XA
Pinch here with long nose pliers
to remove the Switch box PCB.
/AN
T | N_Switch Box PCB Board

Holder

/‘ W
Electrical Bo:

Cross Section P-P

Securing Screw (M4) for Board Holders

rminal Block (TB1)

Board Holders Board Holders

Electrical Box

Securing

Screws (M3.5) for
Wiring of

Terminal Block (TB5)

Securing

Screws (M3.5) for
L~ Wiring of

rminal Block (TB5)

Board
Holder

Board
Holder

Board Holders

Securing Screw (M4) for
rminal Block (TB2)

Securing
Screws (M3.5) for
Wiring of
Terminal Block (TB4)

Securing Screws (M4) for
Wiring of Terminal Block (TB3)

Board Holders Securing Board Holders /J/ Securing
Screws (M3.5) for Screws (M3.5) for
Wiring of Wiring of

Terminal Block (TB4) Terminal Block (TB4)

Securing Screws (M4) for Securing Screws (M4) for
Wiring of Terminal Block (TB3) Wiring of Terminal Block (TB3)




TURN OFF all power source switches.

11.1.3 Removing Electric Expansion Valve Coill
(1) Remove the front service cover .
(2) Removing Electronic Expansion Valve (MVD1~4, MVS1~4)
(a) Turn the electronic expansion valve coil. Remove the electronic expansion valve coil bracket from
the electronic expansion valve slot.
Then, pull the coil upward and remove it.

(b) When replacing the electronic expansion valve coil, turn the coil bracket and press the coil into the
electronic expansion valve slot.

NOTE

e When replacing the electronic expansion valve, bind up the wirings with a cable band indicated in the

figure. Make sure to bind up extra wirings and secure them with a wire clip. If not, water may enter the
electrical box.

e When attaching Electronic Expansion Valve Coil to Electronic Expansion Valve, match the marking color in
the table below.

HCHM-NO4XA, HCHM-NO8XA,

HCHS-NO6XA, HCHS-N10XA HCHM-N12XA. HCHM-N16XA

Mark Marking Color Mark Marking Color
MVS1 White MVD1, MVS1 White
MVD1 Blue MVD2, MVS2 Red
MVD3, MVS3 Blue
MVD4, MVS4 Black
Tool Wire Cutter

Electronic

Expansion Valve Coil %
» Electronic
Expansion Valve

Electronic Expansion Valve Plate

Electronic
Expansion Valve Coil

Coil Bracket
Plate

HCHS-NO6XA, HCHS-N10XA

Wire Clip Cable Band
— _h
B
N\ MVS1
MVD1 @j S
o N g
Electrical Box Cable Band

54



HCHM-NO4XA

Cable Bands

Wire Clips

1

HCHM-NO8XA
Cable Bands
3 |
Wire Clips
/= T 1T
Cable Band ¢ )
E X <=
Electrical Box
Wire Clip  Cable Band
HCHM-N12XA
Cable Band Cable Band
Wire Clip Wire Clip
| Wire Clips
~ T 1T
Cable Bands )
E Y 4 S <= >

Electrical Box

! |
{ Cable Band J Cable Band

Wire Clip Wire Clip

55




HCHM-N16X

Cable Band Cable Band Cable Band
Wire‘ Cip Wire Clip

Cable Bands —_}

" Electrical Box

! ' f 1 I
} Cable Band | Cable Band | Cable Band
Wire Clip Wire Clip Wire Clip

56




12. Specifications for MVD and MVS

Items
Models
Working temperature range
Refrigerant Used
Insulation Resistance
Withstand Voltage

Rated voltage / operating
voltage

Driving current

Coil resistance (for each
phase)

Insulation Class

Connector No.

1
Wiring diagram, drive circuit 2
and activation mode 3
4
Movement Method

Checking Method

Specifications
PAM-MD12HS-17 - PAM-MD12HS-26
-30°Cto 70 °C
R410A
Min. 100MQ (at 500VDC Megohmmeter)
500VAC for 1 minute or 600VAC for 1 second

DC12V+12V
80mA/phase (at 12VDC 20°C)

150Q+10%/phase (at 200C)

Class E

White
Red (COM)

Orange

Yellow Blue

Switching mode

Color of Lead Wire 1 2 3 4

White (3) ON | OFF | OFF | ON
Yellow (4) ON | ON | OFF | OFF
Orange (5) OFF | ON | ON | OFF

Blue (6) OFF | OFF | ON | ON

OPEN:1-2-3-4-1
CLOSE:4-3-2-1-4

Measure the coil resistances between connector No.1 (common) and each phase.

The measured resistance value is normal if approximately 150Q *.

(*): Ambient Temperature 20°C

DCl12Y

(6) ®) 4) 3) 2
Blue Orange Yellow White N/A Red

Appearance

]

(29)
(23)

(20. 8)|_

View from D

(7) (6) ®) “4) (3 (2)
N/A Blue Orange Yellow White N/A

57



13. Safety and Control Device Setting

Switch Box

HCHS-NO6XA, HCHS-N10XA, HCHM-NO4XA
HCHM-NO8XA, HCHM-N12XA, HCHM-N16XA

Model

For Control Circuit
Fuse A 3.15

58






	封皮
	目录
	1. General Information
	1.1 Safety Summary
	1.2 Unit Nomenclature
	1.3 Line-up

	2. General Data
	3. Dimensional Data
	4. Control System
	4.1 Refrigeration Cycle
	4.2 Electrical Wiring Diagrams
	4.3 Electrical Wiring and Settings

	5. Sound Data
	6. Transportation and Handling
	6.1 Transportation
	6.2 Handling of Switch Box
	6.3 Combination of Switch Box and Indoor Unit

	7. Installation
	7.1 Factory-Supplied Accessories
	7.2 Initial Check
	7.3 Suspension Bolts
	7.4 Installation

	8. Refrigerant Piping Working
	9. Test Run
	10. Alarm Code
	11. Servicing
	11.1 Removing Components for Switch Box
	12. Specification for MVD and MVS
	13. Safety and Control Device Setting



